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Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Suppose a? + b? =4(a +3b-10), where a and b are two real
numbers. Then which of the following is true?

M a>p
@ a<b
3) a=b

(4) From the above equation nothing can be said about the

relationship between a and b.
Options :
8024374761. 1
8024374762. 2
8024374763. 3
8024374764. 4

Question Number : 1 Question Id : 8024371191 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



AT 7 a2 + b2 =4(a +3b-10), TET a &¥ b 3T TTEATEF =0 2 |

9 9 9 & FrA-A7 707 22

(1) a>b
(2) a<b
(3) a=b
(4) UL THIEIT T a AT b & TREAE Tad F AL H T Al

el FET o7 THAT 2 |
Options :
8024374761, 1
8024374762, 2
8024374763, 3
8024374764, 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If the day after tomorrow is NOT Friday then which of the following
day CANNOT be the day before the day before yesterday?

(1) Sunday

(2) Monday
(3) Tuesday

(4) Wednesday



Options :

8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 2 Question Id : 8024371192 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

AT AT ATA FeA o T15 T (&7 SLFRATE A2l &, A7 9F | ° FHd-AT (54
AT TO T & T (o &1 T3 (o Agl gl AFaAT ¢ ?

(1) =™
(2) AT
(3) AT
(4) AT

Options :

8024374765. 1
8024374766. 2
8024374767. 3
8024374768. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following words can be formed using only the
letters of the word

“FLOCCINAUCINIHILIPILIFICATION"? When forming a word
you can use a letter at most as many times as it appears in the
above word.

1) PHILIPPINES

(2) CHINCHILLA
(3) CINCINNATI

(4) NATIONALITY
Options :

8024374769. 1

8024374770. 2
8024374771. 3

8024374772. 4

Question Number : 3 Question Id : 8024371193 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



= & T FA-T7 958 Fa 3T TG BT AN FId g0 TAIT AT Tl
2, 9T T =7 &7 717 9rs= “FLOCCINAUCINIHILIPILIFICATION” =

TR B0 22 o753 (A0 #7d 90T T UF J97 1 AgFHaT a1 a0
TN FT T &, ot a7 T8 F9% =7 A7 957 T I g4 2

(1) PHILIPPINES
(2) CHINCHILLA
(3) CINCINNATI

(4) NATIONALITY

Options :

8024374769. 1
8024374770. 2
8024374771. 3
8024374772. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A box contains 10 red balls and 12 white balls. Two balls are
drawn from the box at random, one by one without replacement.
What is the probability that the second ball is red?

(1) 172
2) 5/11

(3) 3/10
(4) 9/16

Options :

8024374773. 1
8024374774. 2
8024374775. 3
8024374776. 4

Question Number : 4 Question Id : 8024371194 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TE R T 10 AT AT 12 THS TS 2 | IHH T THF F ATS UF =M e
=T wiaeaTog & argi=am ©F o HEret Jrdl g | T g & AT
g ¥ aTtaar At 2 2

(1) 1/2

2) 511

(3) 3/10
(4) 9/16




Options :

8024374773. 1
8024374774. 2
8024374775. 3
8024374776. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Three containers, namely cylinder, square prism and triangular

prism, are given. Which one of the following conditions will

ensure that they have identical volume?

(1) Their base areas and heights are identical
(2) Their base areas are identical

(3) Their heights are identical

(4) Their base areas and heights are different
Options :

8024374777. 1

8024374778. 2

8024374779. 3

8024374780. 4

Question Number : 5 Question Id : 8024371195 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



i et R T # 5 £ o, woft fiew i Srph few £
T F Fr-At v o A g w2 55 i w7 e fege

THT ZINIT ?

(1) 39 AT & AFAFA AT IAT SATSAT Uk THA ¢ |

a = ~ =
(2) I AT F EAHA UF THT 2 |

(3) ST SETEAT TF THI E |

(4) ST AL & SARA AT IADT HATAL 9 3 |

Options :

8024374777. 1
8024374778. 2
8024374779. 3
8024374780. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

An apple is fully cut vertically through its centre 4 times such that

successive cuts are spaced at 45° in clockwise direction. How
many pieces are made?

(1) 4
(2) 16



Options :

8024374781. 1
8024374782. 2
8024374783. 3
8024374784. 4

Question Number : 6 Question Id : 8024371196 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

TF HE T SHF 03 | gid g0 4 AT FLATdY T a9g el 4T &
ST FaTd TIeTT 45° FH0T 97 IFAOTET [T H A0 | A IEe

AT AT ?

(1) 4
(2) 16
(3) 8
(4) 12

Options :

8024374781. 1
8024374782. 2
8024374783. 3
8024374784. 4

Question Number : 7 Question Id : 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Bottles are to be packed in boxes. If 4 bottles are packed in a box
then 3 boxes are left unused, but if 3 bottles are packed in a box
then 3 bottles are left unpacked. The total number of bottles is

(1) 36
(2) 32
(3) 40
(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 7 Question Id : 8024371197 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Trat F1 st & 9 F7AT £ | T2 4 ATt =1 UF oo § T T
AT g A7 3 o= AT ST AT F a9 19 g | g A1 3 AT UF
o= 4 O T3 SITaT 2 a7 3 el 9 29 O G2 FTal & | Jraei 6l
(1) 36
(2) 92
(4) 48

Options :

8024374785. 1
8024374786. 2
8024374787. 3
8024374788. 4

Question Number : 8 Question Id : 8024371198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A tower is 50 m high. When the sun’s altitude is 45°, the shadow
of the tower is x m shorter compared to the case when the
altitude is 30°. The value of x is

(1) 50(+/3-1)
@ 50(v3 + 1)

3 50/(V3)

(4) 503
Options :
8024374789. 1
8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 8 Question Id : 8024371198 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



U WA A SaTe 50 91 8 | o 97 45° i S W gar g ar
e Fit g o ¥ 300 fi F97E B Y gerr F a7 I Eret
Tl XFTHE ...

(1) 503 —1)

(2) 50(v3 +1)

(3) 50/(V3)
(4) 5043

Options :

8024374789. 1
8024374790. 2
8024374791. 3
8024374792. 4

Question Number : 9 Question Id : 8024371199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The year BP, in the context of radiocarbon dating, is defined as
Years (BP) = 1950 — Years (AD)

An object from the Harappan site was dated to be 3050 BC. Its
age in years (BP) is

(1) =5000
(2) -1100
(3 +1100
) +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 9 Question Id : 8024371199 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



a9 BP, Y= maTed ATy i Tad i % 9aH |, 37 avg o
afreree & @ (BP) = 1950 — =1 (AD)

ST & T F UTH U g+ =t a1 3050 BC faiia gz | ot
g9y (BP) #...% |

(1) 5000

(2) -1100

(3) +1100

(4) +5000

Options :

8024374793. 1
8024374794. 2
8024374795. 3
8024374796. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following months in 2021 will have the same
calendar (the same days and dates) as that in Sept 20207

(1) March

(2) April

(3) November
(4) June
Options :
8024374797. 1
8024374798. 2

8024374799. 3
8024374800. 4

Question Number : 10 Question Id : 8024371200 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T 2021 ¥ 9 § & o A5+ &7 Feiey 99 2020 & Faa7 qgi+ &

L . [ Oy *
Fee¥ & THE M (Fer =2, 781 59*) ?

(1) ==
(2) @
(3) ==
(4) T

Options :

8024374797. 1
8024374798. 2
8024374799. 3




8024374800. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Find the value of x at which the given straight line crosses the
X-axis.

(3.6)

o~
-

M1.2

(2) 1.5
(3) 2.2
(4) 1.7

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

Question Number : 11 Question Id : 8024371201 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



STEl &F T2 HTet T X - 9% FT FTAT 2, TSl X FT T TTH FIo7|

. (3,6)

=

o —

(1.-2)

(1) 1.2
(2) 1.5
(3) 2.2
(4) 1.7

Options :

8024374801. 1
8024374802. 2
8024374803. 3
8024374804. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Five persons A, B, C, D and E form a queue. C and E are next to
each other. A has one person ahead of him and has at least one
person separating him from B. Which of the following statements
is certainly true?

(1) A and D are next to each other
(2) A and E are next to each other

(3) D and E are next to each other

(4) B and C are next to each other
Options :

8024374805. 1

8024374806. 2

8024374807. 3

8024374808. 4

Question Number : 12 Question Id : 8024371202 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



TMF=AFA B CDTFETHFFALIATEZ ICTT ETH-TH 2 | A
% ST T <6 g, TIT SF o7 B ¥ &= § 77 o F7 TF =715 3
M A FA-TTFI Mg =TT a9 g ?

(1) A &< D 9T5-97 2 |

(2) AT ETE-T £ |

(3) D &7 E 9T9-71 £ |

(4) B 4T C IT9-TT7 2 |

Options :

8024374805. 1
8024374806. 2
8024374807. 3
8024374808. 4

Question Number : 13 Question Id : 8024371203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Which of the following graphs qualitatively show(s) the function
§ ST

(A) (B) (C)

log y
y
y 112

X X X

(1) B and C but not A
(2) Aand B butnot C
(3) Only B

@A BandC

Options :

8024374809. 1
8024374810. 2
8024374811. 3
8024374812. 4

Question Number : 13 Question Id : 8024371203 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



=5 & T FT-T7(T) ITF TOMHF &7 T FAF y = x2 H F900A7(I9q) §

(&)?

(A) (B) (C)

logy
Y
5,wz

X X X

(1)BmaCuw ATEl
(2) ATH B ¥ C 7E

(3) #=a B

(4) A BTFC

Options :

8024374809. 1
8024374810. 2
8024374811. 3
8024374812. 4

Question Number : 14 Question Id : 8024371204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Four babies born in the month of April 2019 are randomly selected.
The probability that at least two of them will have the same date of
birth is,

(1) 81.2%

(2)18.8%

(3) 13.7%

(4) 86.3%

Options :

8024374813. 1
8024374814. 2
8024374815. 3
8024374816. 4

Question Number : 14 Question Id : 8024371204 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

9 2019 F AU | T=T ZU 4 TA9AT FT ATg=5s & T F47 AT A14T
2| SHE T FT T FH 2 oot FF STVHTeATE UF 5 oA il Uriawar .
g |

(1) 81.2%
(2) 18.8%
(3) 13.7%
(4) 86.3%




Options :

8024374813. 1
8024374814. 2
8024374815. 3
8024374816. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A chord AB in a circle subtends an angle of 30° at the circumference.
Then the angle subtended at the circumference by a chord of twice
the length of AB is

(1) 450

@ 600
(3) 900

(4) 1200
Options :
8024374817. 1
8024374818. 2
8024374819. 3
8024374820. 4

Question Number : 15 Question Id : 8024371205 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



U I § UF a7 AB TS 7% 300 T 0T AT FIAT g | aF SAaT
AB #T & AT @aTE T SHAT ZTT TS 92 AqTA (R0 ST JATAT 107 ..
2l

(1) 450

(2) 600

(3) 90°

(4) 1200

Options :

8024374817. 1

8024374818. 2

8024374819. 3
8024374820. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a race, the winner beat the second placed by 10 m and the third

placed by 100 m. The second placed beat the third placed by 91 m.

Assuming that the speeds of the runners remained unchanged

throughout the race, the length of the race track was

(11000 m

(2) 900 m
(3) 910 m

(4) 909 m



Options :

8024374821. 1
8024374822. 2
8024374823. 3
8024374824. 4

Question Number : 16 Question Id : 8024371206 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

F ATE °, AT £ ¥ 97 910 =t w0 10 # @ 69 w7 9T
FT 100 HT. T T4 & T g | TAL T I¥ ST = <F G069y T a7
F1 91 HT. T ZomaT 3 | TfR, 7lt araant i A T S F aotvataT w25,

4t e et 1 i oF 2

(1) 1000 m
(2) 900 m
(3) 910 m
(4) 909 m

Options :

8024374821. 1
8024374822. 2
8024374823. 3
8024374824. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A square of side 2 units contains two half circles as shown in the
figure.

The area of unshaded region inside the square is

(1) 3—m/2
(2) 4 — /2
)3 —-m/4
44— /4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number : 17 Question Id : 8024371207 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



T 2 THTE T Tl A9 H 2 A quTA g, star % e & watn
TAT | A9 o HaT AT 8 FT ATAEA L T

(1) 3—m)2
(2) 4—m/2
(3)3 =1 /4
(4)4—m/4
Options :

8024374825. 1
8024374826. 2
8024374827. 3
8024374828. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Tha nairard har chart anivae tha Par Canita (MNP and naniilatinn nf a



e T T A I L MY SIS 1 Sl I At I T U
country from year 2000 to 2008. Given that
Per Capita GDP = Total GDP/Population

15.
14,
13.
T2
11
10.

e

o ha AL R e BN GERY N R

m GDP percapita B Population (in Million)

10

2008

The highest percentage decrease in the total GDP of the country
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fal W ial ‘I'I"lﬁ FuiFml sl e Vs rE LalAae 1Tk 'I'I-"\.I"\ IS Fatel



UVTE LT PITSVIVUD Yyoal wWwao 1l uic yodail.

(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 18 Question Id : 8024371208 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

T ST /17 AT et 29T &, AT 2000 T 2008 5 T =TiF et 9]
3IcaTe (Per Capita GDP) 3T ST (population) & gormar 2 | 73T

TTT & - Wi =71k Tohel 9] IcaT8 = Fed qahed Ao ScA1E / AT

15.
14.
13.

:f : m GDP per capita - BPopulation (in Million) 12

10.
9 | 10
8. "
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f.
6.
4. o
1. A B
Ay friis
0. F g hets 5 Sy st 3 ;
2000 2001 05 2006 2007 2008

(1) 2002
(2) 2003
(3) 2006
(4) 2008

Options :

8024374829. 1
8024374830. 2
8024374831. 3
8024374832. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



A 400 m wide river flows at 10 km/h. A man at point A wants to
cross the river. In still water he can row a boat at a maximum
speed of 20 km/h. Point B is exactly opposite A on the other
bank. If he wants to cross the river in the least possible time then
how far from B will he land on the other bank?

7

B
——;-'l—rlﬂkm.r‘h
400 m

A
(1) 200 m.
(2) 100v3 m.
(3) 0 m.
(4) 50 m.
Options :

8024374833. 1
8024374834. 2
8024374835. 3
8024374836. 4

Question Number : 19 Question Id : 8024371209 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



T 400 ", ST AET 10 Rt er S am T agdr g Hg AT Us
STTF =T ITT F7A7 =JT2aT 2 | 27 a7t # 7% =7 20 Ghdt /A A
T & AT =TT THAT 2 | &g B T oA 97 &g A F foega A
g | T g FATh =IAdH T0F | 71 I FATATgar g al 9g @g B A

[ e I i Y
Rt g2 9% gAY TohATY 9% Tg =T 2

7

B
._-.'inlnkmr'h
400 m
O

A
(1) 200 .
(2) 100V3 .
(3) 0 T,
(4) 50 .
Options :

8024374833. 1
8024374834. 2
8024374835. 3
8024374836. 4



Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a cycle of spread of the infection, each person infects 3 more
people. One third of the newly infected people take precaution
and do not infect other people. No infected person dies or gets
cured until the end of third cycle of the spread. Starting with one
infected person, the number of people newly infected in the third
cycle is

(1) 12
(2) 15
(3) 27
(4) 30

Options :

8024374837. 1
8024374838. 2
8024374839. 3
8024374840. 4

Question Number : 20 Question Id : 8024371210 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



U HHHIT F FHATT F FF H, TeAF ATF 3 AT ATHAT F THHT FHIA1
g1 AT HHIHT ARN J | TF (dgre ATagT=T 7ad g A7 g0 il T Ha

[ [

21 2 | w2 ff T =i 9 9% F a9 9% T 3% gar g A
T2 AT | U SIE o A9 FLE 197 T H AT HR(HT AR T

=l
— Q

g

(1) 12
(2) 15
(3) 27
(4) 30

Options :

8024374837. 1
8024374838. 2
8024374839. 3
8024374840. 4

Part B Life Sciences

Section Id : 80243729
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 35

Section Marks : 70

Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 80243743
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following options represents a series of the amino acids with

the decreasing pK; values of their side chains?

1. Arg Lys Cys His
2Lys Arg Cys His
3. Lys Arg His Cys
4 Arg Cys Lys His
Options :

8024374841. 1

8024374842. 2

8024374843. 3
8024374844. 4

Question Number : 21 Question Id : 8024371211 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

f=ifhd ®1H 1 td faded ursd J@ars & ged gU pk, IFT & HHl ol & Uhb
HhH Bl Gidl 87

1. Arg Lys Cys His
2. Llys Arg Cys His
3. Lys Arg His Cys
4. Arg Cys Lys His

Options :
8024374841. 1



8024374842. 2
8024374843. 3
8024374844. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The mechanism of oxygen transport by hemocyanin (containing Cu) is described
by Cu'.cu™+ 0; 2Cu?* .04 .cu?t

Which one of the following techniques can be used to monitor the change in the

oxidation state of copper?

1. Mass spectrometry

2. Circular dichroism

3. Absorption spectroscopy
4. Fluorescence spectroscopy

Options :

8024374845. 1
8024374846. 2
8024374847. 3
8024374848. 4

Question Number : 22 Question Id : 8024371212 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



SR (Cu god) BRT TaSToH Uikde- & fanary ®f 39 gRI arvid ddl
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1. GO Wil
2. gdiig giqauiar

3. SN0 W THd]
4. UiAgIt Wt

Options :

8024374845. 1
8024374846. 2
8024374847. 3
8024374848. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
A stoichiometric mixture of & and § anomers of D-glucose in water exhibits

1. net optical rotation proportional to the sum of the optical activities of each

anomer

2. no optical activity as the signs of optical rotation are opposite and they cancel
each other

3. no optical activity as the a& and f anomers exist in the linear forms that are
optically inactive

4. no optical activity as they form a racemic mixture

Options :
8024374849. 1



8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 23 Question Id : 8024371213 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374849. 1
8024374850. 2
8024374851. 3
8024374852. 4

Question Number : 24 Question Id : 8024371214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



The rate constant for conversion of a substrate into the product is 707 577 while
the reverse rate constant is 70°% 7 . An enzyme enhances the rate of this reaction
by 100-fold. The equilibrium constant for this enzyme-catalyzed reaction is

1. 100

2. 10000
3.10

4. 1000

Options :

8024374853. 1
8024374854. 2
8024374855. 3
8024374856. 4

Question Number : 24 Question Id : 8024371214 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. 100

2. 10000
3.10

4. 1000

Options :

8024374853. 1
8024374854. 2
8024374855. 3
8024374856. 4



Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT involved in the formation of lipid rafts?

1. Sphingomyelin

2. Cholesterol

3. Glycolipid

4. Phosphatidylserine

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 25 Question Id : 8024371215 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

fFifed @ 91 U fafts ds1 & FHafu J 2 781 gidr 82

1. SR ITHERH

2. BICIET

3. RIS

4. BBl adNT

Options :

8024374857. 1
8024374858. 2
8024374859. 3
8024374860. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following statements about human LINEs (long interspersed

nuclear elements) is FALSE?

1. LINEs are located primarily in euchromatic regions.

2. LINEs cannot encode all the products needed for their retrotransposition, and
are dependent on SINEs for some  components.

3. Of the three human LINE families, LINE-1 is the only family to have actively
transposing members.

4. Active LINE-1 elements possess an internal promoter  located within the 5

untranslated region.

Options :

8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 26 Question Id : 8024371216 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
HI-d LINEs (long interspersed nuclear elements) o Yo & f=ifed o a1 us
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Options :



8024374861. 1
8024374862. 2
8024374863. 3
8024374864. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Myosin molecules that assemble into bipelar filaments in the muscle are

1. Myosin |

2. Myosin I
3. Myosin IV
4. Myosin V

Options :

8024374865. 1
8024374866. 2
8024374867. 3
8024374868. 4

Question Number : 27 Question Id : 8024371217 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. AR |

2 AEIfEA
3. AEIfEE v
4. AR v

Options :
8024374865. 1
8024374866. 2



8024374867. 3
8024374868. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following statements about R-banding of metaphase chromosomes
is FALSE?

1. The heat treatment preferentially denatures the GC rich DNA to produce R-
banding pattern.

2. This is essentially the reverse of the G-banding pattern.

3. The R bands are Q (quinacrine) negative.

4. The DNA of R bands generally replicate early during the S-phase of cell cycle.

Options :

8024374869. 1
8024374870. 2
8024374871. 3
8024374872. 4

Question Number : 28 Question Id : 8024371218 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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3. R UTEAl (@788) Q (@AfhH) BUNHD Bidl &

4. R UFETl (4=59) & DNA BT GHFITAT S- T & GRF deal Hiadard sidl 8l

Options :

8024374869. 1
8024374870. 2
8024374871. 3
8024374872. 4

Question Number : 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the snRNAs given below base pairs with 5' splice site of pre mRNA?

1. U
2. U,
3. 1
4, Us

Options :

8024374873. 1
8024374874. 2
8024374875. 3
8024374876. 4

Question Number : 29 Question Id : 8024371219 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



fAifasd @ 1 Th snRNAs Jd mRNA @ 5 THEI RS & 91U §R-JFd gl g2

1. Uy
2. Uz
3. Us
4. Us

Options :

8024374873. 1
8024374874. 2
8024374875. 3
8024374876. 4

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following RNAs possesses the peptidyltransferase activity?

1. tRNA

2. 55 rRNA
3. 165 rRNA
4, 235 rRNA

Options :

8024374877. 1
8024374878. 2
8024374879. 3
8024374880. 4

Question Number : 30 Question Id : 8024371220 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



F#ifbd RNAs 5 U D U1 U ULTRISagRb e dRiday YR Hdl o7

1. tRNA

2. 55 rRNA
3. 165 rRNA
4. 235 rRNA

Options :

8024374877. 1
8024374878. 2
8024374879. 3
8024374880. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following statements about GAL gene expression is FALSE?

1. GAL4 is a positive regulator of GAL genes

2. The UAS region that regulates the GAL gene expression harbors short, phased
AT repeats every 10 base pairs

3. GAL8O is a positive regulator of GAL4

4. GAL80 is negatively regulated by GAL3

Options :

8024374881. 1
8024374882. 2
8024374883. 3
8024374884. 4

Question Number : 31 Question Id : 8024371221 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5
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4. GAL80 GAL3 BRI T#RIA® dMid o Faf<d g1 &1

Options :

8024374881. 1
8024374882. 2
8024374883. 3
8024374884. 4

Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

UV- induced DNA damage causes advancing replication forks to stall. To avoid a
collapse of these stalled replication forks the cell uses:

1. non-homologous end joining
2. lesion bypass

3. mismatch repair

4. base excision repair

Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4



Question Number : 32 Question Id : 8024371222 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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2. &Il SUaM

3. 99 & GuUR
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Options :

8024374885. 1
8024374886. 2
8024374887. 3
8024374888. 4

Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following amino acids is characteristic of and is conserved in
response regulator of plant two-component systems?

1. Aspartic Acid
2. Glutamic acid
3. Tyrosine
4. Histidine

Options :

8024374889. 1
8024374890. 2
8024374891. 3
8024374892. 4
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Question Number : 33 Question Id : 8024371223 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. TEIC®
2. TS 3kt
ERETUTE
4, BEEA

Options :

8024374889. 1
8024374890. 2
8024374891. 3
8024374892. 4

Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Which one of the following signaling molecules is NOT a protein or a peptide?

1. Transforming growth factor o (TGF-at}
2. Erythropoietin
3. Granulocyte colony stimulating factor

4. Epinephrine

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4



Question Number : 34 Question Id : 8024371224 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

frifpd B 11 T Haha 210 U Ui 11 U UwTS S T8l &2

1. =Yl Qi:éti DPRD o (1GF-g )

2. TfeyramEfed

3. ANES BIAH IRD HRS

4. TUARA

Options :

8024374893. 1
8024374894. 2
8024374895. 3
8024374896. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Which one of the following is NOT an extracellular matrix protein?

1. Keratin

2. Laminin

3. Collagen
4. Vitronectin

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Number : 35 Question Id : 8024371225 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. B
2. THIAA
3. Do
4. fagHfdeq

Options :

8024374897. 1
8024374898. 2
8024374899. 3
8024374900. 4

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If you require to generate anergy in T cells, which of the following conditions will

you use?

1. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28

2. Stimulate naive T cells with antibodies that bind only the T cell receptor

3. Stimulate naive T cells with antibodies that bind both T cell receptor and CD28
in presence of IL-4

4. Permit naive T cell interactions with activated macrophages in presence of IL-4

Options :

8024374901. 1
8024374902. 2
8024374903. 3
8024374904. 4

Question Number : 36 Question Id : 8024371226 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374901. 1
8024374902. 2
8024374903. 3
8024374904. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In echinoderms, sperm direction is provided by

1. Calcineurin
2. Bindin

3. Resact

4. EBR1

Options :
8024374905. 1
8024374906. 2



8024374907. 3
8024374908. 4

Question Number : 37 Question Id : 8024371227 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

. SHIgAISHl H, IEHIY] AFIGRH 34 aRI UeH &l 91l &

1. HdgRA
2, faf=4

3, e
4. EBR1

Options :

8024374905. 1
8024374906. 2
8024374907. 3
8024374908. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

If an early cleavage stage wild type Drosophila embryo is injected with bicoid

mRNA at the posterior pole then

1. head structures develop at posterior pole, while the same is inhibited at

anterior pole
2. head structures form at both poles
3. head structures are not formed at posterior pole due to presence of posterior

morphogens
4. duplication of usual posterior structures occurs

Options :
8024374909. 1
8024374910. 2



8024374911. 3
8024374912. 4

Question Number : 38 Question Id : 8024371228 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374909. 1

8024374910. 2

8024374911. 3
8024374912. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

if the blastomeres of a 4-celled sea urchin embryo are isolated, each blastomere

can form a pluteus larvae. This is an example of:

1. autonomous specification
2. conditional specification
3. determination

4. mosaic development

Options :
8024374913. 1



8024374914. 2
8024374915. 3
8024374916. 4

Question Number : 39 Question Id : 8024371229 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374913. 1
8024374914. 2
8024374915. 3
8024374916. 4

Question Number : 40 Question Id : 8024371230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following plant homeotic genes does NOT encode MADS-
domain transcription factor involved in floral organ specification?

1. AP2

2. AP1

3. AP3/P1
4. AG

Options :

8024374917. 1
8024374918. 2
8024374919. 3
8024374920. 4

Question Number : 40 Question Id : 8024371230 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. AP2

2. AP1

3. AP3/P1
4, AG

Options :

8024374917. 1
8024374918. 2
8024374919. 3
8024374920. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which of the following is a plant secondary metabolite?

1. Kaurenoic acid
2. Abietic acid

3. Proline

4. Pyruvate

Options :

8024374921. 1
8024374922. 2
8024374923. 3
8024374924. 4

Question Number : 41 Question Id : 8024371231 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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2. Ufeufidd 3
3. Ui

4. UIGEde

Options :

8024374921. 1
8024374922. 2
8024374923. 3
8024374924. 4

Question Number : 42 Question Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following metabolites formed during Calvin-Benson cycle in
chloroplast is involved in starch biosynthesis and can also be transported to

cytosol?

1. Triose phosphate

2. Glyceraldehyde-3 phosphate
3. Fructose-6-phosphate

4. Ribulose 1,5-bisphosphate

Options :

8024374925. 1
8024374926. 2
8024374927. 3
8024374928. 4

Question Number : 42 Question Id : 8024371232 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374925. 1
8024374926. 2
8024374927. 3
8024374928. 4




Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following essential plant mineral nutrients complexes with

mannitel, mannan, polymannuronic acid, and other constituents of cell wall?

1. Silicon

2. Chlorine

3. Manganese
4. Boron

Options :

8024374929. 1
8024374930. 2
8024374931. 3
8024374932. 4

Question Number : 43 Question Id : 8024371233 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

M=ifhd ®F 91 e avgd Uled Wi Ui¥d AHerd, H§+H, Uiaia-RiHe 3
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1. TicTd™
2. GARH
3. BT
4. R

Options :

8024374929. 1
8024374930. 2
8024374931. 3
8024374932. 4



Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following plant proteins is targeted by HC-toxin produced by
the maize fungal pathogen Cochliobolus carbonum?

1. H-ATPase

2. Histone deacetylase
3. ACC oxidase

4. MTA nucleosidase

Options :

8024374933. 1
8024374934. 2
8024374935. 3
8024374936. 4

Question Number : 44 Question Id : 8024371234 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Aeifed ®H 9 U9 UGY UidH Hadl $ad! AP dlidEay sieEqd
(Cochliobolus carbonum) gl¥l 34 &d HC-3HTAY gRT iférd Eﬂdl %?

1. H -ATPase

2. o faudiergew
3. ACC AFdas q

4. MTA giFcaiiirss

Options :

8024374933. 1
8024374934. 2
8024374935. 3



8024374936. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following causes constriction of blood vessels?

1. Carbon monoxide

2. Nitric oxide

3. Endothelin - 1

4. Atrial natriuretic peptide

Options :

8024374937. 1
8024374938. 2
8024374939. 3
8024374940. 4

Question Number : 45 Question Id : 8024371235 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :
8024374937. 1
8024374938. 2



8024374939. 3
8024374940. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one is NOT the function of P-cells in the collecting ducts?

1. Na™ reabsorption
2. K¥ secretion
3. H20 reabsorption
4. H™ secretion

Options :

8024374941. 1
8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 46 Question Id : 8024371236 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

=ifted 1 O TP 9B ® Aiadis # p-HIR@1si &1 1 A8l o7

1. Na* @1 G-3{a=Iyu]
2. K* B
3. Ho0 @1 G 3fa=Igul
4. H* DIHE

Options :



8024374941. 1
8024374942. 2
8024374943. 3
8024374944. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following is NOT produced by a-amylase digestion of ingested

amylopectins?

1. Glucose

2. Maltose

3. Maltotriose

4. o -limit dextrins

Options :

8024374945. 1
8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 47 Question Id : 8024371237 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. I
2. Hiceld

3. "SIl
4. o -foifte SFEdH

Options :



8024374945. 1
8024374946. 2
8024374947. 3
8024374948. 4

Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

What kind of inheritance is indicative in the pedigree chart shown below?

1. Y - linked

2. X-linked dominant

3. X-linked recessive

4. Autosomal dominant

Options :

8024374949. 1
8024374950. 2
8024374951. 3
8024374952. 4



Question Number : 48 Question Id : 8024371238 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

for gt U dger Rarfa e ueR &1 durTa gied o 67

1. Y- GgaH
2. X- g UHidt
3. X- g Uyrdt
4, AT guTdt
Options :
8024374949, 1
8024374950. 2

8024374951. 3
8024374952. 4

Question Number : 49 Question Id : 8024371239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following is a correct statement about the difference between a
F* cell and Hfr cell?

1. In F*cell F factor is an integral part of bacterial chromosome, while in Hfr cell F
factor is present as an episome.

2. F7 and Hfr are synonymous.

3. In F* cell a bacteriophage carries F factor, while in Hfr cell F factor is an
integral part of bacterial chromosome

4. In F* cell F factor is in the form of an episome while in Hfr cell, F factor is
integrated into the bacterial chromosome.

Options :

8024374953. 1
8024374954, 2
8024374955. 3
8024374956. 4

Question Number : 49 Question Id : 8024371239 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :



8024374953. 1
8024374954. 2
8024374955. 3
8024374956. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Mutation is essential for genetic variation. Which one of the following events can
lead to variation amongst the gametes produced by males of Drosophila

melanogaster?
[Crossing over does not occur in D. melanogaster males.]

1. Segregation

2. Imprinting

3. Recombination

4. Independent Assortment.

Options :

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4

Question Number : 50 Question Id : 8024371240 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. §0YHA

2. fa=

3. Qe
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Options :

8024374957. 1
8024374958. 2
8024374959. 3
8024374960. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Cytoplasmic male sterility (CMS) in plants is caused by mutation in the
mitochondrial genome. CMS can be restored by a nuclear gene, restorer of
fertility (Rf), which is a dominant character. If a male sterile pea plant is pollinated
by a fertile male pea plant with Rf in heterozygous condition, the progeny
obtained will have

1. all male sterile progeny

2. all fertile progeny

3. 50% of the progeny fertile and 50% male sterile
4. 75% of the progeny fertile and 25% male sterile

Options :
8024374961. 1
8024374962. 2



8024374963. 3
8024374964. 4

Question Number : 51 Question Id : 8024371241 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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CMS 1 UdIda U Sad [ wi, Sl 981 ®- aral (Rf) 9 81 I&dl & off fh

U UHTE T&0T § | IfG U R 69 Hex & UlY &1 RATV U R @A AR S Ug d

HY] A o R fawogell g o 8, df Ui g-afadl O 8 |

1. 94T R 990 Gdfd

2. 4T ed gafd

3. 50% T-dfddl & TUT 50% R §H
4, 75% G-afcdl E9 Yl 25% R L

Options :

8024374961. 1
8024374962. 2
8024374963. 3
8024374964. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which among the following states has the highest forest cover in terms of

percentage of geographical area?

1. Chattisgarh

2. Uttarakhand

3. Madhya Pradesh
4. Odisha

Options :
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8024374965. 1
8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 52 Question Id : 8024371242 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

driifere &7 & ufaed & g<H & fieifed vl & ¢ foud gaffie a1 89 22

1. Baildig
2. 3aRIE s
3. 49 Ue
4. 33491

Options :

8024374965. 1
8024374966. 2
8024374967. 3
8024374968. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which of the following phytopathogens has predominantly necrotrophic mode of
colonization?

1. Phytophthora infestans
2. Erwinia spp.

3. Erysiphe pisi

4. Puccinia graminis

Options :
8024374969. 1



8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 53 Question Id : 8024371243 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

i d g TERITeHS § JR0qdl HagHad &1 Jadard] HUlc gidl 82
1. BIZSIPIRT 33T
2. FXTAaT &

3. NN oidl
4, GFHar FEET

Options :

8024374969. 1
8024374970. 2
8024374971. 3
8024374972. 4

Question Number : 54 Question Id : 8024371244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Which one of the following approaches is INCORRECT in classifying organisms

from kingdom Animalia?

1. Spicules were used as a primary criterion for the classification of phylum
Porifera

2. Protostomes were classified into two major lineages; Lophotrochozoans and
Ecdysozoans

3. Hemichordates were placed in same superclass as Echinoderms because both

have ciliated larvae
4. Ambulacrians included Echinoderms and Hemichordates

Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 54 Question Id : 8024371244 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374973. 1
8024374974. 2
8024374975. 3
8024374976. 4

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In a population showing exponential growth, per capita growth rate will:

1. decrease as population size increases

2. increase as population size increases

3. remain constant as population size increases

4. increase initially and then saturate at large population sizes

Options :

8024374977. 1
8024374978. 2
8024374979. 3
8024374980. 4

Question Number : 55 Question Id : 8024371245 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374977. 1
8024374978. 2
8024374979. 3
8024374980. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Mycorrhizal fungi are associated with a large variety of plant species. The diagram
below shows the cost-benefit curves from individual plants with or without
mycorrhizal fungi associated with the roots across a soil nutrient concentration

gradient.

Plant without mycorrhizal fungi

Plant size

Plant with mycorrhizal fungi

>

Soil nutrient concentration

Which one of the following options best describes the association between the

plant and mycorrhiza when soil nutrient concentrations are high?

1. Parasitism

2. Mutualism

3. Competition

4. Commensalism



Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4

Question Number : 56 Question Id : 8024371246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374981. 1
8024374982. 2
8024374983. 3
8024374984. 4



Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following represents the largest outflux of nitrogen from the

atmospheric reservoir?

1. Biological nitrogen fixation

2. Nitrogen fixation due to lightning

3. Fixation on account of fossil fuel burning

4. Fixation by Haber's process for fertilizer production.

Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 57 Question Id : 8024371247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
F=ifed ®H T U digHTSH I8 U Al5cioH & Ydged HadRUl DI Gl 87
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Options :

8024374985. 1
8024374986. 2
8024374987. 3
8024374988. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

Identify the plot that depicts the change in metabolic rate of an endotherm with

respect to change in environmental temperature
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o 10 2 30 40
Environmental temperature °C
Options :
8024374989. 1
8024374990. 2
8024374991. 3
8024374992. 4

Question Number : 58 Question Id : 8024371248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374989. 1
8024374990. 2
8024374991. 3



8024374992. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The following statements describe the outcomes of genetic drift:

A. Genetic drift can eliminate alleles.

B. Genetic drift can be associated with population bottleneck.

C. Genetic drift is not observed in populations that increase in size, once they
grow through a bottleneck.

D. Genetic drift can be associated with founder effect.

Which one of the following combinations represents all correct statements?

1.A, Band C
2B CandD
3 A BandD
4 A Cand D

Options :

8024374993. 1
8024374994. 2
8024374995. 3
8024374996. 4

Question Number : 59 Question Id : 8024371249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374993. 1
8024374994. 2
8024374995. 3
8024374996. 4

Question Number : 60 Question Id : 8024371250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



Examples of antibiotic resistance highlight important features of natural selection.
Which of the following statements is NOT true?

1. Evolution by natural selection is progressive, it makes individuals ‘better’.

2. Natural selection acts on individuals but it is populations that  change with
time.

3. Natural selection does not cause genetic changes in individuals

4. Natural selection acts on phenotype

Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4

Question Number : 60 Question Id : 8024371250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024374997. 1
8024374998. 2
8024374999. 3
8024375000. 4



Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following genomes is most appropriate to determine hybrids in

plants and animals?

1. Nuclear

2. Mitochondrial

3. Chloroplast

4. Mitochondria and chloroplast.

Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4

Question Number : 61 Question Id : 8024371251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375001. 1
8024375002. 2
8024375003. 3
8024375004. 4



Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The common cuckoo, a parasitic bird, lays eggs in the nests of other bird species.
Soon after the cuckoo egg hatches, the chick shoves the nest owners’ eggs out of

the nest. This is an example of:

1. habituation

2. imprinting

3. innate behaviour

4. operant conditioning

Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 62 Question Id : 8024371252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375005. 1
8024375006. 2
8024375007. 3
8024375008. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following approaches/markers would be typically used for
discovering polymerphism between two closely related accessions of a crop
plant?

1. AFLP
2. GBS
3. 55R
4. RAPD

Options :

8024375009. 1
8024375010. 2
8024375011. 3
8024375012. 4

Question Number : 63 Question Id : 8024371253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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1. AFLP
2. GBS
3. 55R
4. RAPD

Options :

8024375009. 1
8024375010. 2
8024375011. 3
8024375012. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Given below are a few approaches/techniques used in the analysis of plants:

A. Phenotype linked to the marker gene.

B. PCR using primers specific to the host genome.

C. Southern hybridization

D. PCR using transgene-specific primers.

Which one of the following combination of approaches/ techniques can be used
to differentiate between transgenic and non-transgenic plants of a particular
variety if the site of insertion is unknown?

1. B and C only
2. A and D only
3.ACandD
4 ABandC

Options :



8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 64 Question Id : 8024371254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375013. 1
8024375014. 2
8024375015. 3
8024375016. 4

Question Number : 65 Question Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



In the context of plant breeding and genetic engineering, which one of the

following statements is correct?

1. To achieve high expression level of a heterologous gene in a transgenic plant a
promoter of bacterial origin is often used.

2. F1 progeny derived by crosses between inbred lines with low genetic diversity
is more likely to show heterosis.

3. In Agrobacterium mediated plant transformation, always a single copy of the
transgene is inserted in the host genome.

4. Qualitative traits are typically characterized by discontinuous phenotypic
variation while quantitative traits often generate continuous phenotypic

variation.

Options :

8024375017. 1
8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 65 Question Id : 8024371255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
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Options :

8024375017. 1
8024375018. 2
8024375019. 3
8024375020. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The total number of cells in 1 ml of a bacterial culture was estimated to be 2.7 x
10°. The culture was diluted 27-fold and 100 ul seeded per well of a 96-well plate.

What is the final cell number per well?

1.1x 103
2.27 x 10%
3.27 x 10°
4.1 % 104

Options :
8024375021. 1
8024375022. 2



8024375023. 3
8024375024. 4

Question Number : 66 Question Id : 8024371256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

1 ml Siiaitad a4 o ifiersi & oo =1 2.7 x 10° [yl &t 74t | dadq
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1.1x 103
227 x 104
3.27 x 10°
4.1 x 10

Options :

8024375021.
8024375022.
8024375023.
8024375024.

A WD B

Question Number : 67 Question Id : 8024371257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



In a cloning experiment, a DNA molecule isolated as a Pst | fragment was inserted
into the Pst | site of a cloning vector that is 3kb in length. Digestion of the
CONFIRMED clones with Pst | resulted in the appearance of a single band
corresponding to 3kb in an agarose gel. Based on this information, what is the
probable size of the cloned fragment?

1.6 kb
2.15kb
3.3kb
4. 45 kb

Options :

8024375025. 1
8024375026. 2
8024375027. 3
8024375028. 4

Question Number : 67 Question Id : 8024371257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Udh aail=- UG, U DNA 3{U] &1 G40l U Pst | 3 ST faod1 71T a1 39l

AR U 3kb T T GaTed d Pst | R4 H b1 71411 FHITUT @RIl &1 Pst |

Y U U Uhh d-5 @] U B ol [ WRIS ofd § 3kb & 3% & | IWRIad g1

@ YR IR, T BT T 3 BT GHIfGd 3HR T A

1. 6kb
2.1.5kb
3.3kb
4.45kb

Options :
8024375025. 1
8024375026. 2



8024375027. 3
8024375028. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Which one of the following statements is TRUE?

1. Nick translation cannot be used for radio-labeling DNA fragments for use in
Southern hybridization

2. RACE can be used to obtain sequence information of the ends of a cDNA

3. In a 2-D gel electrophoresis for separating proteins, analytes are first separated
on the basis of their size and then on the basis of their pl.

4. AFLP markers are typically used to screen heterozygotes from homozygotes

Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 68 Question Id : 8024371258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

ifd 5 W TP &Y 9ol 67

1. W a6 D1 SUAN e elRiesgud- H SFWIR & A DNA 32l &
Sl sifdhad & e 81 faean o G|

2. RACE @I 3UGHT cDNA o RRT & Sl & Y1 UId &3+ o {o1U fdsgn o gabal
el

3. UIdHHT & gYadRul o il 2-D Wid dggddurdda- H favasl &l Ugd bR &
HIYR W YYddd bl Sl 8 aul b 39 pl & SATUR | |

4. AFLP Te®! &1 SUART YEFIaa] GHgWe! § [quagreial & Sdieon | i
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Options :

8024375029. 1
8024375030. 2
8024375031. 3
8024375032. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following proteins produces a dark blue/purple color in the

presence of 5-bromo-4-chloro-3-indolyl phosphate and nitroblue tetrazolium?

1. Polynucleotide kinase
2. Alkaline phosphatase
3. B-glucuronidase
4. B-galactosidase

Options :

8024375033. 1
8024375034. 2
8024375035. 3
8024375036. 4

Question Number : 69 Question Id : 8024371259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5



fifed &F O t@ UeH 5-aM-4-FART -3-3sid ayl Agelsq], ey ®l
Sufeufa 7 et Hie/sg- 31 30 dRar g?

1. TfETeRS B

2. Ueohdlgd BB

3. PRI
4. p- R

Options :

8024375033. 1
8024375034. 2
8024375035. 3
8024375036. 4

Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

Which one of the following sets of terms is matched correctly?

1. Fluorescence microscopy: Use of dyes that absorb and emit light of the same
wavelength

2. Confocal microscopy: Use of pinpoint illumination and detection apertures

3. Confocal microscopy: Use of pinpoint illumination and detection apertures

4. Gas Chromatography: Used for analysis of non-volatilized carbohydrate
molecules

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4



Question Number : 70 Question Id : 8024371260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

el o (AHifdd HiH T 94 Glod J af=d 57

1. BfaE i G&aext: I9@! &1 ugiT ol i 9HF TUTe e & HoId &I a9 ayl
I $d B

2. DHBID () YR Y& TSI YT T RS B SWR

3. FisH (th=1): fesoie HeiHi H Uidciia Ioid 3031 &1 DNA-DNA SOG4l &
HLTH & fOIU &R TS| & did Sdidte gl 9H & ol S5

4. 719 qUiCiRG T 3-aTq2iidl Plelelgac HUSH & fa=emul & 6T 3T

Options :

8024375037. 1
8024375038. 2
8024375039. 3
8024375040. 4
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Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following statements were made to suggest the existence of an enzyme —
substrate complex.

A. At constant concentration of enzyme, the reaction rate increase with increasing
substrate concentration

B. An enzyme-catalyzed reaction has a maximal velocity

C. At constant concentration of the enzyme and substrate, an increase in the
reaction rate is observed.

D. An enzyme catalyzed reaction is not influenced by high substrate
concentration.

Which of the above statements suggest the existence of an enzyme — substrate

complex?

1. Aand B
2. BandC
3 AandD
4. D only

Options :

8024375041. 1
8024375042. 2
8024375043. 3
8024375044. 4

Question Number : 71 Question Id : 8024371261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



TP UalH-Hhed MY & AT &I Tfad @4 & (o 99 &y 910 T |
A, T-ST3H & F9d 9radl R, $Rigd & 9Fsal § afts & a1y sfifshar e 9gal 6 |
B. U U-wiIzH Jaiig ifufgpar o aifigq nia gidi 2 1

C. TaTSH qUT BRiEd & ad 9rsdl 1), A a2 8§ 0 it odl ol & |

D. TP UiisH JdiRd HUHa $1iad 3 3=d 9r&dl 4 JUIidd 9ei eidl @ |
SWRIdd DI Ul HY-/d Y- TezH-Bsd I 3= Higdl § UHIfdd &l 87

1. ATUTB
2. BAUTC
3. ATYUID
4. HadAD

Options :

8024375041. 1
8024375042. 2
8024375043. 3
8024375044. 4

Question Number : 72 Question Id : 8024371262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



An enzyme catalyzed reaction comparing proton and deuteron transfer reactions

yielded the following kinetic data

ket [H], 577 70.7
K [H], mM 1.03
keat D], 577 10.3
K [D], mM 1.06

Which of the following represents the turn over numbers (M-' s7) for proton
transfer, deuteron transfer and the kinetic isotope effect, respectively?

1. 68640, 9717, 14
2. 6864, 972, 7
3.728210,1091, 14
4. 68640, 9717, 7

Options :

8024375045. 1
8024375046. 2
8024375047. 3
8024375048. 4

Question Number : 72 Question Id : 8024371262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



T TilgH SR HHTHaT il T Uie TUT SYgiH FRR HTHibarsl B go-

keat [H], 577 70.7
Kn [H], mM 1.03
keat [D), 571 103
Kw [D], mM 1.06

fifed @ O fdocy HHY : UieH | R & (07U 2 311aT 91 (y-1 1),
SUCH RIFFI 9T s GERTHS THIE Gl 87

1. 68640, 9717, 14
2. 6864, 972, 7

3. 728210, 1091, 14
4. 68640, 9717, 7

Options :

8024375045. 1
8024375046. 2
8024375047. 3
8024375048. 4

Question Number : 73 Question Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The first step in the biosynthesis of valine begins with enzyme catalyzed
condensation of two molecules of pyruvic acid. If an equimolar mixture of
13CH;COCO0H and 2CH3;COCOOH are used as substrates for the reaction, which
one of the following would represent the correct isotope incorporation pattern of
the pro-R and pro-S diasterectopic methyl group in valine?

50%
" 50%

73%
25%

25%
25%
25%
25%

T5%
25%

CH;z (pro-R),
20Hs (pro-R),
*CH:s (pro-R),
2CH; (pro-R).

2CH; (pro-R),
BCHs (pro-R).

“CH; (pro-R), '
2CH; (pro-R), !

BCH; (pro-R),
2CH; (pro-R).

Options :

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

Question Number : 73 Question Id : 8024371263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2CHa (pro-S)
3CH;: (pro-S)

12CHs (pro-S)
"%CH; (pro-S)

2CH: (pro-S)
BCHs (pro-S)
CHs (pro-5)
12CH; (pro-S)

CH; (pro-S)
"“CH; (pro-5)



afe & Slagzayur H YYH TR0 Gl UISEiad 3 & Ui & Torsy Idid du-q
T R BidT 81 MG 13CH;COCO0H TYT 12CH;COCO0H &1 Td THARR Iy @
IqgnT fufear & fow ve sdga o i oe, &t FAeifed &4 o oF afem |
pro-R @Y1 pro-s ufdfddl Bfad Augd 998 & udie GaiHE 9434 & WEy
I GRIfdl 87

50% 13CHz (pro-R), 2GHs (pro-S)
" 50% 12GHs (pro-R), 1*CHs (pro-S)

1

5 75% 13CHa (pro-R), 2GHs (pro-S)
" 25% 12CHs (pro-R), 1*CHs (pro-S)

25% 13CHsz (pro-R), 2CHs (pro-S)
25% 12CHs (pro-R), 13CHs (pro-S)
25% 13GHz (pro-R), 3CHz (pro-S)
5% 12CHs (pro-R), 12CHa (pro-S)

75% 12CHz (pro-R), *CHz (pro-S)
25% 13CH: (pro-R), *CHa (pro-S)

Options :

8024375049. 1
8024375050. 2
8024375051. 3
8024375052. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
The following disulfide bond containing peptide was digested using trypsin. How
many peptide fragments will be produced by the digestion?

MTPOQKAVILNSCTYRPYPM

NOQGCLKVCVNPCGRLTDEH
—

1. Three
2. Four
3. Five
4, Six

Options :

8024375053. 1
8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 74 Question Id : 8024371264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Frifed fGuehies e gad ULEs &1 UreH fefiq 9 favgn | U 4 iwerss
& fopa Ws Iafed giil?
MTPOQKAVILNSCTYRPYPM

NQGCLKEVCVNPCGRLTDEH
L1

1.dH
2. dR
3.0
4.

Options :

8024375053. 1
8024375054. 2
8024375055. 3
8024375056. 4

Question Number : 75 Question Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A 100 residue long protein has a single chromophoric residue (tyrosine). The UV
absorption of this protein and a homologous protein (also with a single tyrosine
residue) was monitored at 280 nm at different pH conditions. A plot of the
absorbance as a function of pH is shown below. The locations of the tyrosine

residue in the context of the protein sequences is also shown in the figure.

- A . B

S|1 25 so 75 100 S|1 25 so 75 100

o [ T Y [ CR | 2| 1 1 1 1

g i g ”

g ;

2 2 ,

6 7 8 9 10 11 12 6 7 8 9 10 11 12

pH pH

Which one of the following rationalises the difference in the two pH titrations?

1. removal of the hydroxyl group of tyrosine above pH 11

2. location of the tyrosine residue in the protein structure

3. pH dependent changes in the absorption in the polypeptide main chain
4. hydrolysis of the polypeptide as a function of pH

Options :

8024375057. 1
8024375058. 2
8024375059. 3
8024375060. 4

Question Number : 75 Question Id : 8024371265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Ud 100 Hd9d 2" UidH H Ud Udhdl auidd 399d (@ISH) o1 39 Ui &1 aul
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gRfRufeal ® 280 nm TR S@aiithd a1 74T | HIeH & Hg@H & TaH H TRF
Haga o ®F Wi Feifea sl J a=iar T g |

- A i B
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2 L3
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6 7 8 9 10 11 12 6 7 8 9 10 11 12

pH pH

f=ifpd ®1H W1 Us fadbed &l pH URad-l o fafly=ar &1 gfdaa o axdl & ?

1. pH 11 & SR R & oI G &I Harul
2. Ui & WEU H ey 3add &1 ®IH

3. UeiU@Tg s & yaa § pH R sa=iyor o uftad—
4. pH @ Us YHH & S URIULISS Bl ofcl-3Uge-

Options :

8024375057. 1
8024375058. 2
8024375059. 3
8024375060. 4

Question Number : 76 Question Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The 15 base-paired nucleic acid molecule shown below is dissolved in an aqueous

buffer of pH 7.3.

5'-A G U AUCGUG-3'
A UAGCAC-5

GGAU
3'-u C CCUA

uc
UG
Which one of the following statements is INCORRECT?

1. It can be a double-stranded DNA molecule in a B-form helix
2. It can be a double-stranded DNA molecule in an A-form helix
3. It can be a double-stranded RNA molecule in an A-form helix
4. It can be double-stranded RNA molecule in a B-form helix

Options :

8024375061. 1
8024375062. 2
8024375063. 3
8024375064. 4

Question Number : 76 Question Id : 8024371266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



11 <9Il T 15 &R-TW Gfdad 3 ©U & U pH 7.3 & S 34T Wioridt
PINIEIE

5"-AGUUCGGAUAUCGU G-
3'-UCAUGCCUAUAGCAC-

AeifPd P 9 Ud HY Tad § ?

1. 98 U B-3HHEU HUSeHl H fg-I5e[® DNA 310] 5l Ubd o
2. U5 U A- 3MHEU pusdl | fg-Issl®d DNA 31U] I ¥dhd o
3. T8 U A- 3T pusdl H fg-35el® RNA 37 51 9 |
4. T8 Ud B-3HTHEY HUSTH H [§-I59[P RNA U] Bl Udhd ¢

Options :

8024375061. 1
8024375062. 2
8024375063. 3
8024375064. 4

Question Number : 77 Question Id : 8024371267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about sex determination in Drosophila

melanogaster:

A. It is achieved by a balance of female determinants on the X- chromosome and
male determinants on the autosomes.

B. A Drosophila with 0.66 value of X:A ratio would develop intersex type.

C. Due to noninvolvement of ¥ chromosome in sex determination process, XO
Drosophila develop as normal fertile male.

D. The high value of X:A ratio facilitates activation of feminizing switch gene Sex -
lethal (sx).

E. Sex specific expression of sxl causes selective activation of dosage
compensation genes in female Drosophila.

Select the option with combination of all correct statements.

1.ABE
2 A B D
3.B,CE
4B, CD

Options :

8024375065. 1
8024375066. 2
8024375067. 3
8024375068. 4

Question Number : 77 Question Id : 8024371267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



SIHG e Ac-reee s o RuiRor & ga= § e oy 59 1

A. T8 X-TURA R Hiel MuRe! qur AeiEl ) R FuRe! & th ddeH 9 3urfeid
ICRIEIGIE

B. X:A 3-]UTd @ 0.66 Hd Il Uth 5741/ Bci e Aeafciill ey H [ fd ghm|

c. T FRreriRor ufssan # v oRgE &1 SgHIRTal & SR, X0 S/FaraHEg
SHH&H R o f[dd i g

D. X:A 3-JUTd @1 3= Held HIGIDR® deA S [e1-9Tdl (Sex-lethal) (sx) & Gichgul
@I GH DXl B

E. sxl @1 TeivT fafRree sifiyonafad Arer S/gidser | AT FeRo idson Sl &
UMHD Gihau & RS a-1dl g

Ui el HY=1 & Jd alcl [dded $1 997 B

1.ABE
2 A B D
3.B,CE
4B, CD

Options :

8024375065. 1
8024375066. 2
8024375067. 3
8024375068. 4

Question Number : 78 Question Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements are made about KDEL receptor.

A. KDEL receptor is found in COPI vesicles

B. KDEL receptor affinity for KDEL sequence is high at higher pH

C. KDEL receptor is synthesized on the ER

D. KDEL receptor is present in the ER and Golgi

Identify the option that contains all correct statements about the KDEL receptor.

1. A and B only
2 A B C
32ACD
4. Cand D only

Options :

8024375069. 1
8024375070. 2
8024375071. 3
8024375072. 4

Question Number : 78 Question Id : 8024371268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



KDEL U181 @ HaH H 1 @y §91g 79|

A. KDEL U181 COPI Gfedtsii & R Sl & |

B. KDEL T8 @1 KDEL 3FIhH o Ul §=[dl Sk pH R G gidl § |
C. KDEL Tl ER TR TR Biel & |

D. KDEL TT81 ER TYT TMTewi! § U W & |

KDEL ATe! @ T H 941 981 Byl ard fad ey 31 Ugd &1 |

1. ATl A TUTB

2 A B C
3.A,CD

4. Hdd C YT D

Options :

8024375069. 1
8024375070. 2
8024375071. 3
8024375072. 4

Question Number : 79 Question Id : 8024371269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following figure represents the growth curve of wild type E. coli grown in a

medium containing both glucose and lactose.

Bacterial
density



2 4 6 B8
Timein h

In E. coli, the catabolite repression of lactose operon by glucose has been
explained by the different levels of cAMP in presence and absence of glucose.
This model was challenged and experiments showed that catabolite repression
occurred because the activity of lactose permease was inhibited in the presence of
glucose. Considering the second model, which cne of the following plots correctly
represents the growth pattern of a mutant £ coli with a loss of function mutation
in the lac/ gene growing in a medium containing glucose and lactose?

1.
Bacterial|
density
| 1 | 1
| 1] 1 1
2 4 6 8
Timein h
2.
Bacterial|
5 density
1 ] 1 1
1 1 | 1
2 4 6 8
Timein h
3.
Bacterial|
density
3.
| 1
]




Timeinh

4.
Bacteriall
density

4,
1 1 | l
] L] 1 |
2 4 6 8

Time in h
Options :

8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 79 Question Id : 8024371269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fifed S oI aul dae o GiHl § gad U SatH HIeH H SaUEU £ coli &

gi< as% @I g |

Bacterial
density
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f=ifhd & T Udh I Bl aul daeis [A¥d e Jat= arey o (aef ofiF &
DHRIEHA AU IdNddd dad Ud IANadl F. coli & dld e I Hal &1 ¥ Ueidid




Al 67
Bacterial|
density
1.
1 1 1 1
| 1 ] 1
2 4 6 B
Timein h

Bacteriall
5 density

R G

| Ll I 1

2 4 6 8
Time in h

Bacteriall
densi
3. i
Bacterial|
density
4,

[ T
— T
2 4 6 8
Timeinh

Options :



8024375073. 1
8024375074. 2
8024375075. 3
8024375076. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following statements were made about human mitochondrial genome:

A. The replication of both the H and L strands is unidirectional and begins at
specific origins.

B. Majority of the mitochondrial genes encode for protein  products.

C. Though the mitochondrial genome is extremely compact the genes never show
any sequence overlap.

D. The CR/D-loop region of mitochondrial genome exhibits triple stranded
structure.

E. Transcription of mtDNA starts bi-directionally from a common promoter region
in the CR/D-loop region and continues round the circle.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2ADE
3.B,D, E
4B, CD

Options :

8024375077. 1
8024375078. 2
8024375079. 3



8024375080. 4

Question Number : 80 Question Id : 8024371270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HHd YEHOH Yol o T H 4 HUH 3918 T

A. H TUT L Gl Togd! @1 YA dig- ThiedHS gidl & ayl U a2y 3¢H W 1R
HRP BB |

B. B TG UDE S U Jdlal &1 @ed @l & |
C. T GHADVIDBIY i Scid To- Bial g, Sii- dul Yl TRERearadr g1 g2l g1
D. YABIUIBTY ol @l CR/D-dsh &3 FHiesd edHl edidl ¢ |

E. mtDNA @ 3F[cia- &1 RP CR/D-3 Ha H Tdh SHTHS S0 Hala ¥
fafcaeTed tiid ¥ SR BIAl & Y1 I & JadR $l IRI &l & |

FHfedeR T te Teg o i eyl s oo d AfHa g 2

1. A B D
2ADE
3.B,D,E
4.B,C D

Options :

8024375077. 1
8024375078. 2
8024375079. 3
8024375080. 4

Question Number : 81 Question Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about the characteristics of cyclin proteins:

A. Synthesis of M-cyclin is dependent on the cyclin mRNA that is newly
transcribed after every cycle.

B. Destruction of M-cyclin toward the end of mitosis is driven by ubiquitin
independent proteolytic system.

C. 31 cyclins can be activated by mitogenic factors.

D. Retinoblastoma (Rb) is a key target of the activated cyclin D — Cdk 4/6 complex.

E. While cyclin A1 expression is ubiquitous, cyclin A2 expression is restricted to
the germ cell lineages.

Which one of the following options contains a combination of all correct

statements?

1.A B D
2B CE
3.B,D, E
4 A CD

Options :

8024375081. 1
8024375082. 2
8024375083. 3
8024375084. 4

Question Number : 81 Question Id : 8024371271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



s UidHl & SHTHTE & W | 4 Sy 5918 74

A. M- TTSiaa &1 9090 95faad mRNA B IR AR ga e vas 9o &
Ugard 4 R ¥ erafad gl g |

B. UHIAU & THIUA & IHIU M-Isfdead @ faam glaggfed eHa uidH
AUIeH dd g I eial g |

C. G1 WISl &1 Afshgur G-l SRS U 5 Ghdl 6|

D. YfeASAREAT (Rb) Gfhd R D - Cdk 4/6 THY DT UG TTE ad aidl & |

E. el dgfged A1 @ fciad Jadiud &, 9Efaod A2 @f JiyaiEd o4
HIfH! dRae db ol UiHd Yedl & |
f=ifeed ®F 91 U fadmed 9l 9gl dyHl o Ha 4 AHd g 2

1.A B D
2B CE
3.B,D, E
4 A CD

Options :

8024375081. 1
8024375082. 2
8024375083. 3
8024375084. 4

Question Number : 82 Question Id : 8024371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about catalytic introns:

A. Group | introns may undergo self-splicing by transesterification.

B. Group Il introns do not require any factor/protein for autosplicing either in vivo
or in vitro

C. Certain introns of both the group | and Il classes may contain open reading
frames which are translated into protein.

D. Generally, group | introns migrate by DNA-mediated mechanisms, whereas
group Il introns migrate by RNA- mediated mechanisms.

E. Ribonuclease P (RMNase P) is essential for bacteria and archaea but not
eukaryotes.

Which one of the following combinations represents statements which are all

correct?

1.A B D
2B D E
3.A,CD
4. CDE

Options :

8024375085. 1
8024375086. 2
8024375087. 3
8024375088. 4

Question Number : 82 Question Id : 8024371272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



9 @Y I3RS 37H & T H 591 T

A. fage) T iRl gRI & | & SeH| & WWaHe~H 5l 9odl 8 |

B. Siid 314dl U & 1| S<H| Bl T[WaHe=H o O 6l SR&G/UICH B adddl
el gidl &

L ﬁlmllﬁ%ﬁ%?ﬁﬁlﬁﬁmw (open reading frames) Bl
dbdll o [orga] 341G UIcH & ©U H gidl g

D. W], @ | 3<HI &1 RIFFRU DNA-THR Uil GR1 8idl 6, Said av i
g2 BT RIFRIRY RNA-HERY URPaT gRIEIAT 2 |

E. TZEY[FTY P (RNase P) STATO[ST TuT 3iTe SiaTu[ii o T Sffawae & W
goieare! & o =g |

fifeed @5 91 0@ dd 9t 92 HuAl @ Gl g 2

1.A B D
2B D E
3.A,CD
4 C D E

Options :

8024375085. 1
8024375086. 2
8024375087. 3
8024375088. 4

Question Number : 83 Question Id : 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A protein found in the golgi compartment was found to be degraded rapidly at
mitosis. Golgi extracts (isolated from Gy and M phase cells treated with
deubiqutination inhibitors) were treated with glycosidase and western blots done
using antibodies against the protein. The following pattern was obtained.

Marker G, hA

- gly + gly - Bly + gly

75 —

30 | —

Identify the statement that CANNOT be made based on the data.

1. The protein is glycosylated in G4 and M-phase

2. The protein is glycosylated and ubiquitinated in M-phase

3. The protein is ubiquitinated but not glycosylated in M-phase
4. The protein is not ubiquitinated in Gy

Options :

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 83 Question Id : 8024371273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Meoll @& H U & dlcl U Wi & I faueH & 999 digar 9 fagfed gid
U T | el e (FREgferRAeR deaa! ¥ 3uhild 6y aul MR
DIA®I3M U Juddd [l gofl) & WedNRs d 3UdiRd &d UdH & A& G
icReal 4 d¥e- sare [ T | FHEifdd Ufiey Ui gl

marker G, M

- Bly + Bly - Bly + Ely

?5 —

30 | ——

HYT BT UgaH B ol i IWIad Midhs & NYR T et 5141 ol 9hdl o |

1. Gy TYUT M-3aRJ1 H Ui TR iidiad & |
2. M- | Ui Ediibdied adl gieagfeed

e

3. M-3aRJT H U1 giaagfeHad & R Wi diad Tal ¢ |
4. Gy HUIEH gfewafeHapd g g |

Options :

8024375089. 1
8024375090. 2
8024375091. 3
8024375092. 4

Question Number : 84 Question Id : 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following statements were made about regulation of eukaryotic gene expression.

A, It is usually regulated at the level of initiation of transcription by altering the
chromatin architecture.

B. The eukaryotic genome is divided into domains by insulator elements.

C. A chromatin remodeling complex binds to the promoter of a gene in sequence
specific manner.

D. Architectural proteins regulate gene expression by promoting DNA bending.

E. The chromatin remodeling complex can alter nucleosomal architecture, but
cannot displace them.

The opticn with all the correct statements is

1.A B D
2 A CE
3.B,D, E
4B, CD

Options :

8024375093. 1
8024375094. 2
8024375095. 3
8024375096. 4

Question Number : 84 Question Id : 8024371274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



gopiifes SiF el & o & T 3 e oy s |

A. TIYRUIGY] U8 14 & §-Iae & aGald & gRI 3aE & TR TR 01
frafd giar g

B. gHRRAIC® ToiH @il dal gR1 ua! 8 fauiford gid 8

C. U iffe ieuu Iy U o & 3-hd U 3HHH fafre gurrel ¥ ded
gl

D. TaH1 Ydfdd Ui DNA RIS &I AT &ds ol SifHoafdd &1 Fa-u &d
gl

E. shiAfeq ufaegur difyy gfdaaiaa &f 93a=1 # uRad o ¥ad &, U] 3!
faeitd el &) Gad |

ol wg @yl aren fadwea & -

1.A B D
2 A CE
3.B,DE
4B, CD

Options :

8024375093. 1
8024375094. 2
8024375095. 3
8024375096. 4

Question Number : 85 Question Id : 8024371275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Contents in Column | and Il are with respect to bacterial transcriptional regulation.

Column | Column lI

I. Positive regulation by cAMP|a. Ara operon

ii. Short abortive transcripts  |b.Lac operon

iii. DNA looping c.Riboswitch

iv. FMN synthesis d.Transcription initiation

Which one of the options below correctly matches contents in Column | with Column I17

1.() — () (i) — (d): (iii) — (a); (iv)—(c)
2. (i) — (<) (ii) — (b); (iii) - (a); (iv) —(d)
3. ()—(b); (i)—(a) (i) —(d); (iv)-(c)
4. () —(d); (i) - (<) (i) - (b); (iv) —(a)
Options :

8024375097. 1

8024375098. 2

8024375099. 3
8024375100. 4

Question Number : 85 Question Id : 8024371275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



®IaT | 94T 11 1 faug 9] Sfaitad sgae- g Fara o gad 52 |

HIaH | @I 1
(i) |cAMP BRI USRIHS g5 (a) |Ara HETC®
iy [ Fewe uficd (b) |Lac TETCI®
(i) [DNA Gl (0 [
(v) [FMN Sedgor (d) |HTaEd R

Wﬁﬁmwﬁwmm YT || & [a9g a%q @ Giddl 4 QAT el

87

1. () = (b): (i) — (d); (ii)) - (a); (iv) - ()
2. (i) — (<) (i) — (b): (i) - (a); (iv) —(d)
3. () —(b): (i) —(a); (iii) - (d); (iv)— (<)
4. (i) = (d); (i) — (o) (iii) - (b): (iv) - (a)
Options :

8024375097. 1
8024375098. 2
8024375099. 3
8024375100. 4

Question Number : 86 Question Id : 8024371276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1




Which one of the following statements about eukaryotic RNA processing is
INCORRECT?

1. Termination of transcription occurs co-transcriptionally at the polyadenylation
site.

2. Phosphorylation of the Ser 2 of the RNA polymerase Il CTD is required for the
recruitment of polyadenylation factors.

3. Polyadenylation requires both cleavage at the polyadeny-lation site and
addition of poly A.

4. Xm 2 is the nuclease that degrades the cleaved RNA to release RNA
polymerase Il from the template.

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4

Question Number : 86 Question Id : 8024371276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



THRANCH RNA UHHU & TgH H DI 91 T DU Tad 67

1. ICREA @1 THITH SgUsHa ®Id T Je-3aa-aa 4 g |

2. RNA OIS II CTD & Ser 2 @1 BIRBIRCIHIU dgUs Hfdmiol dR®I &
ARIEY & foiL 3a=as® gl

3. SgUSHI®HRU & o SgUsMieiaiy ®d W fdge a9l §g A (poly A) @1 GiT
Gl BT TaRgHdT BidT B

4. Xrn 2 98 fF0d & S b G 9 RNA TIEH (| & FHaR0 & o [3afeid RNA
@l fqufed oial gl

Options :

8024375101. 1
8024375102. 2
8024375103. 3
8024375104. 4

Question Number : 87 Question Id : 8024371277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The following statements are made with reference to the fact that tRNAs are
known to possess T in their sequence.

A. RNA polymerase Il utilizes TTP as one of the substrates.

B. Like any other RNA polymerase, RNA polymerase |ll also utilizes rUTP but when
the RNA pol lll reaches a looped structure it binds to S-adenosylmethionine to
methylate C-5 position of the incorporated U to result in a thymine in a
co- transcriptional manner.

C. During transcription of tRNA genes at the designated positions, DNA

polymerase replaces RNA polymerase Il to incorporate T in the tRNA
transcript
D. A specific methyltransferase utilizes a methyl group donor to post-

transcriptionally modify the specific U residues into T residues.
E. Uracil to thymine conversion occurs in a large number of tRNAs in the TWC
loop.

The opticn with all the correct statements is

1. A and B only
2. B and C only
3.Cand E only
4. D and E only

Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4



Question Number : 87 Question Id : 8024371277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

F=ifed Tyl @1 59 9 & G5 o S99 7491 & tRNAs @1 30 3 HH J T Bl
GHIEd U gUSHI S & |

A. RNA TUTHTERS 11l TTP @l Ut $igod o U H SURT H Al & |

B. [ 4l GO RNA RIS & ST, RNA TISiER (11 4t rUTP &1 SUTRT &dl &
U] 4 914 RNA pol Il Tt 9aHeR §-1de &l Ul @R oidl &, I8 YHIa U &
C-5 ¥ &I AEHd B34 & ol s-Ufeifieaiigi=g I dudr g, uRum sy
TE-3J0E- Usfa 9 uisfi B niawiid g e |

C. FfEse el W tRNA SIHT & 3FeiRg- SR, tRNA Hidei 5 71 JAed B
@ 0 DNA UTElTERS RNA UIRITERS 11l I UfaR10d #d1 s |

D. U {92 HYIEaeiqhe Hcia- U=drd (9219 U ggdl &I T Hagdl 9 giRkafdd
B b [o7U T HilT THE <Ial I IUGRT Bl |

E. TWC d%b H tRNAs & I 8d Y1 § QR &1 Uit § YuRkdd eidl &l

i 98 Syl ¥ god fadeu B

1. hddl A dUT B
2. Hdd B AU C
3. &hdd C aUTE
4. $ad DAYl E

Options :

8024375105. 1
8024375106. 2
8024375107. 3
8024375108. 4

Question Number : 88 Question Id : 8024371278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Leishmania major, the causative protozoan parasite of cutaneous leishmaniasis,
resides and multiplies within the phagosomes of macrophages. Resistance to the
infection correlates very well with the development of a Th1 response. In order to



prove this hypothesis, three groups of BALB/c mice were taken: control group,
IFNy ) group and IL-4 ¥~} group. All the groups were infected with L. major and
then parasite load was measured in each group after 4 weeks. Which one of the
following results will justify the experimental cutcome confirming the hypothesis?

L

Parasite
1 load

Control  IFNytH L4061

Parasite
2. load

Control  IFNY®F  IL-4KF)

Parasite T

] lad



b LLE 1Y)

Control  IFNyH -4t/

4,

Parasite

4. load
Control  IFNYH) 114

Options :

8024375109. 1
8024375110. 2
8024375111. 3
8024375112. 4

Question Number : 88 Question Id : 8024371278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT #el (Leishmania major), «dl TmFiy SRUEES UREH g3Eidl
ggd W&V & BTGl # 99 ST § aul d9-3f Sl & | hHU 9 uiadiy
U Th1 IR0 U 954 o= &7 4 UeHaied Sid1 8 | 59 SaUR & g &1 &
fU BALB/c TE1 &1 ofF U o 7 : HEIfd (control) GHE, IFNy &) THE Tl
IL-4 ©) Tgg | 9t T B L. major T Ysbftra fvar a1 qun s 4 TwE & U
Td® e H Weidl YR &1 7194 & | e $19 w te ufom sEemon
@t uf® ®ed /U Ot AWt &t 3fa fos e



Parasite
1. load

1]

Control  IFNyHH 1141

Parasite
2. load

Control ~ IFNy*/)  JL-4¢F

Parasite
3 load




Control  IFNyH") |41

4,

Parasite

4. load
Control  IFNyHT  |L-4¢H

Options :

8024375109. 1
8024375110. 2
8024375111. 3
8024375112. 4

Question Number : 89 Question Id : 8024371279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Receptor tyrosine kinases (RTKs) form a large and important class of cell surface
receptors whose ligands are soluble or membrane bound protein or peptide
hormones. Which of the following statement is INCORRECT?

1. All RTKs are transmembrane proteins with extracellular ligand-binding site and
a cytosolic domain.

2. Binding of ligand causes most RTKs to dimerize

3. Cytosolic tyrosine kinase phosphorylates a distinct set of tyrosine residues in
the cytosolic domain of the dimer.

4. Adapter proteins and enzymes involved in signalling pathways bind to different
phosphotyrosine residues via a conserved polypeptide domain called SH2
domain.

Options :

8024375113. 1
8024375114. 2
8024375115. 3
8024375116. 4

Question Number : 89 Question Id : 8024371279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



UTel TR BIg-uldl (RTKs) HIRISGT Ude Uil &1 U fa2re Ud Heaqul aif
F41d & forgds Yol goita a1 Rl offde WidH 91 Ueiss g o | Fifed
H 91 HUE TEd 87

1. G RTKs DIRTHER TaHI-88E RT T TS DIRA@Iged Ued & 91
RS Ui gl

2. HUHI RTKs BT HerA! & FIY HEHE 37 [gdd- & HRS a-9d1 o

3. PIPIGAT TR Pl fgad & DIRPIA! Uaa F <RI 3/dadl &
Us fafree g & BRBIRGd Bl & |

4, USTER U duT TogH o {5 Yard gt & Infid & ue Wxféd ueiverss uas
ford sH2 U&H ®ed &, & aRI fafi~ BRpIeEAR 3qgd! ¥ 44d 2

Options :

8024375113. 1
8024375114. 2
8024375115. 3
8024375116. 4

Question Number : 90 Question Id : 8024371280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The following statements are made with reference to characteristics of
glycosaminoglycans and proteoglycans, which are major constituents of
extracellular matrix. Which one of them is INCORRECT?

1. Glycosaminoglycans are very long polysaccharide chains composed of
repeating disaccharide units of an amino sugar  and a uronic acid.

2. Except for hyaluronic acid, all glycosaminoglycans are covalently attached to
protein as proteoglycans.

3. Glycoproteins contain less carbohydrate usually in the form of relatively short,
branched oligosaccharide chains whereas proteoglycans contain more
carbohydrate in the form of long unbranched glycosaminoglycan chains.

4. Like O-linked and N-linked glycoproteins, in proteoglycan also
glycosaminoglycans are linked to serine or threonine and asparagine residues.

Options :

8024375117. 1
8024375118. 2
8024375119. 3
8024375120. 4

Question Number : 90 Question Id : 8024371280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



il Bl B ARG EIEARARGA gl Uicaraga-l & AT & gaH |
1 71, Sl fob AreiaIfRIdT St &1 Us Wi Ueds & | AHifdd &1 91 U e
87

1. TSHIAIEHTAE S U THHT Db ayT Uh THIAT 35 & Mddl SBaaiss
ged! & Jfd 4 UreiadRigs 4@ ¢ |

2. BRI 3 o Sffdfiad, 941 s s iA-Nagd- Ui Saldgd-l & odl
TgUael ¥ U A U A St Bid & |

3. TR H GIURUGHI SU&dhd Bic, AEd HIRTEEUss e o 4
H &H Blaigl3Sc Bld & Said Hiicardrgd-l H o HRad
TS EIRFRAEe- SEas & ©0 8 e BeEEsc sl & |

4, 0-3MdG TUT N-3MaG Tas@ e ordl, Hifcaragdg- 5 off
ARG IEIEHIE S SR Sryar 3R qur TR 3fagdl 9 9S 8id 2

Options :

8024375117. 1
8024375118. 2
8024375119. 3
8024375120. 4

Question Number : 91 Question Id : 8024371281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Prostate cancer cells were treated with Drug A and Drug B in order to check the
efficacy of the drugs in arresting the growth of cells. The following results were

obtained:
Drug A Drug B
Level of T Level of T
EXpression expression
— — —
P o a o
o?® 22 e (0O @ e o
B JoF ¢ o & m‘*“ v
oe® (}ﬂq e? .ﬂ,@“’ﬂ

Which one of the following statements is NOT correct?

1. Drug A targets the Wnt signaling pathway but does not lead to death of cells.
2. Drug B targets the Wnt signaling pathway and leads to G4 cell cycle arrest.

3. Both drugs A and B lead to cell death but targets different apoptotic pathways.
4. Drug A kills cells via the mitochondrial- independent pathway.

Options :

8024375121. 1
8024375122. 2
8024375123. 3
8024375124. 4

Question Number : 91 Question Id : 8024371281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Jrufimt @1 DIk @1 3fS B AP B &0 B G- & [0 A DI
DIfRI®131 B Y A (Drug A) TUT 3G B (Drug B) T UG fabar man| =

gfonyg U fae T
Drug A Drug B
Level GIT Lewe| ﬂfT
EXpression expression
—1 — —
A
dﬁp#ﬁgﬁﬁﬁﬁi&ﬁﬂﬁ‘¢&““ a@ﬂ# cﬁﬂﬂ@q;Lﬁﬂ\W@pgx
eS| e ot @
f=ifthd ®1F 91 U@ &Y 9ol A8l & 7
1. ST A Wnt HdooH UY ! TI&d dRdl & Uk DIl & g BT BRS Aol
a-all
2. Y B Wt Goba OY & Afed Bl & adl G, DILDT 9% & THIAC DI DD
GERIN
3. G SISl A TYT B DIRIGT 5 ® RD a4dl & U= 3R HIRID] Heg Tyl
CAKIARE G

4. AR A DIRGIH D GABIUBI-LIHH T4 & GRT HIADIS BT 94 Bl o

Options :

8024375121. 1
8024375122. 2
8024375123. 3
8024375124. 4

Question Number : 92 Question Id : 8024371282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A transgenic mouse was generated for both heavy and light chain specific for
MHC molecule H-2K™ so that all the B cells in this mouse therefore had BCRs
specific only for H-2K™ and made only anti- H-2K™ specific antibodies. By
appropriate breeding, the H-2K™ specific immunoglobulin transgene was
introduced into mice bearing different MHC genotypes H-2K" and H-2K™". With
respect to selection of B-cells within the bone marrow of H-2K" and H-2K™" mice,
which of the following statements is correct?

1. In H-2K" mice, the transgenic antibedies will not be detected on the surface of
any of the B cells

2. In H-2K™" mice, the transgenic antibodies will not be detected on the surface
of any of the B cells.

3. In H-2K" mice, the transgenic antibodies will be detected on the surface of
some of the B cells but not released in the serum.

4. In H-2K™" mice, the transgenic antibodies will be detected on the surface of
some of the B cells.

Options :

8024375125. 1
8024375126. 2
8024375127. 3
8024375128. 4

Question Number : 92 Question Id : 8024371282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



MHC 0] H-2k™ & foT fasifta & a1 oY ydal eF1 & U U gReiHT ggl
g1 T ford fih 59 ge o 9l B SIRd1e(f § dhad H-2k™ o fore fa=ifid BCRs
© Ol daq Ufd H-2k™ Tafree gioreial a4t 81 IUgad U & gRI, H-2K™
fafare gidramaisgicH IR ®f Udh 3Rl MHC SIFURed H-2K" a4l H-2K™/"
dIdl gg H Ud SRATTA | H-2K" TUl H-2K™" g5l & 3 Aol H B- BIfRIdra]
& 70 & g5 § FEifrd e T sy 98l & 2

1. H-2k" gei & 5t off 8 Sift@n & g W ureliH ufeRefal &1 gqea T8t
BT

2. H-2k™n et H, Tt ot g Sif¥rersit & Us W weiHt ufarafial o1 gga 8t
BT

3. H-2K" g6l &, $9 B SIP1e] & Ut W IR ufcReldl &1 99 8l i
Y # Had 8l 8R 1|

4. H-2k"" gl §, 7 B D@ & T W IR ufaReial & Iga- srml

Options :

8024375125. 1
8024375126. 2
8024375127. 3
8024375128. 4

Question Number : 93 Question Id : 8024371283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following diagram displays the MHC haplotype of a heterozygous H-2%9 mouse:

Maternal KK Aak Bu Eak Bk Dk Lk
MHC

Paternal
MHC

Ké| Aadpd| Eadpd| DI| L9

How many types of MHC molecules will be expressed on activated macrophage
(Mw) and a normal fibroblast (NF)?

1. M 8 ; NF 14
2. M@ 4; NF 6
3. Mo 14; NF 14
4, Mo 14; NF 8

Options :

8024375129. 1
8024375130. 2
8024375131. 3
8024375132. 4

Question Number : 93 Question Id : 8024371283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Freifrd 3G U fauages H-294 g8 & MHC gWiersy (R0 i) gidl 8

Maternal KK A{I“B“ EukBk Dk Lk
MHC

Paternal
e | K¢ Aadpd|  Ealpe| DY| L

ihTad FedHEBBITRIBT (M) TYT T M dqu (NF) TR fdd ISR & MHC
HUHT B Mg sl 7

1. Mg 8 ; NF 14
2. M@ 4; NF 6
3. Mo 14; NF 14
4, Mo 14; NF 8

Options :

8024375129. 1
8024375130. 2
8024375131. 3
8024375132. 4

Question Number : 94 Question Id : 8024371284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In C. elegans the SKN-1 protein controls the fate of the EMS blastomere which
generates the posterior pharynx. With reference to the above which one of the
following statements is INCORRECT?

1. The MS blastomere is able to generate pharyngeal tissue even in isolation.

2. Embryos from skn-1 (skin excess) deficient mothers lack both pharyngeal
mesoderm and endoderm derivatives of EMS

3. Embryos which are skn-7 null mutants will always make extra hypodermal (skin)
and body wall tissue.

4. SKN-1 activates MED transcription factors whose level of activity controls the
fate of EMS lineage

Options :

8024375133. 1
8024375134. 2
8024375135. 3
8024375136. 4

Question Number : 94 Question Id : 8024371284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



C. elegans (9. TAH-9) H SKN-1 WIEH EMs SR&Es & Fafd &1 Fo<u &d g
Sl b U9 9911 &1 HA0 Tl 8| SWRId & aH # Fifhd & 91 Th $YA
Tad 87

1. MS PR®OES g a1 # 1t 791 Sad! &1 Fau R gadi ¢ |
2. skn-1 (@ fc®) 30l 717 T IG~ YOI § EMs & GGl T9-1 HEe-wR

qUT 3D GHI & SHE Bl ¢

3. YOIl il &5 skn-7 YT SRS &, Had SAaRad SERTdIg (9H) IUT 68 Wi 3db
CEIRIE]

4. SKN-1 MED 3foia" ®Ra] &l |ishd Bl o forgd fhariicdl &1 &R EMS
dunad & fafa &t FHafea o 8

Options :

8024375133. 1
8024375134. 2
8024375135. 3
8024375136. 4

Question Number : 95 Question Id : 8024371285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Maternal effect genes are extremely important in establishing the anterior — posterior
polarity of the Drosophila embryo. Mutant phenotypes arise when genes of this family
are mutated. The following table enlists genes and phenotypes observed on mutation of

these genes but not correctly matched.

Gene |Mutant Phenotype

A. Torso |i. No abdomen, no pole cells

B. Vasa |ii.Defective oogenesis

. Oskar |iii. Head and thorax deleted

D. Bicoid|iv.No termini

Which one of the following combinations is correctly matched ?

T.A-ii,B-i, C-iii, D-iv
2A-i,B-iii,C-iv,D-ii
3.A-iv,B-ii,C-i,D-iii
4 A-i0i,B-iv,C-ii,D-i

Options :

8024375137. 1
8024375138. 2
8024375139. 3
8024375140. 4

Question Number : 95 Question Id : 8024371285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ATg SH®R S Sralbal YOI & 3U-U%d Yadl & ™0 & U o Hgayqul
t | 309 98 & oAl & 3dRalad @3 4 Idad a&uuEy U 8id & | F
AR 39 Sl & IARdd U=dld Uddiad by T T&vmRey aul Sl o gl UG

PO R TR PHE S |

SiIG| ARGl &Y
A. 2181 (Torso ) i 3ax UG, yd DIfIeT AUl
B. @&/ (Vasa) i, Algul SeA
C. 3&@P¥(Oskar) iii. TR Tur 9 faafa
D. I9aaIUE (Bicoid) iv. 3fdd fqufyd
fAuHifed @9 91 e 99=9g Qafdd & ?

1T.A-Ii,B-i C-iii, D -iv
2A-i,B-ii,C-iv,D-ii
3A-ivB-ii,C-i,D-iii
4 A-ii,B-iv,C-ii,D-i
Options :

8024375137. 1
8024375138. 2

8024375139. 3
8024375140. 4

Question Number : 96 Question Id : 8024371286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The hedgehog pathway is extremely important in vertebrate limb development,
neural differentiation and facial morpho-genesis. In accordance with the above
statement, what would happen in mice that are homozygous for a mutant allele of

sonic hedgehog (shh)?

1. Limbs would form normally but the mice would have facial abnormalities.

2. Midline of the face would be reduced and a single eye would form in the
center of the forehead.

3. Eyes would form normally but digits would be malformed.

4. Mutations of shh may activate tumor formation if Patched protein can inhibit

the Smoothened protein.

Options :

8024375141. 1
8024375142. 2
8024375143. 3
8024375144. 4

Question Number : 96 Question Id : 8024371286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SO N UY B! H Ule fad i, i (AR aul 98 & WaHl o &

310 o/ Heayul & | IWIdd HYH & HJUR, Us de J a1 el Sl fos Ud

JaRadl fae el WiHe 89611 (shh) & [T TGS 87

1. UTGI &1 GG T34 81 U g H e & SFarIiaddl eril|

2. g @1 AL Bl 8 S Yl e Uld & U H Us Uhd 4 [ddiad ghll |

3. 31 &1 YR T3 BT U] el Haryias® ghl |

4. shh 9 IaRadd 3 FHir &1 iy &R Oadl @ 3¢ U8 (Patched) HIEH
W(Smmothened}mﬂ?ﬁﬁﬂmﬂ_&? |

Options :



8024375141. 1
8024375142. 2
8024375143. 3
8024375144. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Xenopus, the Noggin protein, accomplishes two major functions of the

organizer: it induces dorsal ectoderm to form neural tissues, and it dorsalizes

mesoderm cells. Which one of the following observations is correct with respect

to Noggin?

1. If a plasmid clone expressing Noggin protein is microinjected into a lithium
chloride treated Xenopus gastrula, it should rescue the abnormalities induced
by lithium chloride treatment.

2. If a plasmid clone expressing Noggin protein is microinjected into UV-treated
embryo which does not give rise to neural tube, it will rescue the abnormality.

3. RNA in situ hybridization of noggin cDNA on Xenopus embryc will show its
presence in all regions except the dorsal blastopore lip.

4. Microinjection of noggin mRNA into the embryo region fated to make the
ventral part will promote its ventralization.

Options :

8024375145. 1
8024375146. 2
8024375147. 3
8024375148. 4

Question Number : 97 Question Id : 8024371287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



FAITY (Xenopus) H FAWH (Noggin) WeH FT6® & o YW Wardl & Hsarfed
T & U8 UK diooeR @ dH®l $Hdd eI & O Uid $d 8, TUT T8
AEHER D@ ® U8 §91d g1 ARE & 9 § FEifed F 91 1@
3fqai Hel &7

1. TG U AT UIH DI 3ifHoddd o3 T Uaod dail- ol [eldgH &iRigs Sudlid
TGRSl H geAsid: &9 fbg 5, df SHe! [Aiigs Fkigs 3UdRr URkd
fguaare © FRaid $ea1 91ey |

2. TfE Um FIFH UIdH @I SHHoddd dY Ugod ol @l UV- SUdIRd YU H geasia:
&lfta fooan o forgd dfF@T el 78] &4dl & di 98 [audarst ¥ Fard &4 |

3. 179 YOI WR I cDNA &I RNA R (in-sity)  BRGSBoRH 39b
Sufuld &f g warEt # exiwm fHay fddb-al HeRI S |

4. I mRNA @7 YOI & 37tR YW &9 & U [iate a7 § gedeid: &un 589
HYURHIU B Urdiied ST |

Options :

8024375145. 1
8024375146. 2
8024375147. 3
8024375148. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Antennapedia protein expresses in the thoracic segment of the fly and not in the
head region. However, a dominant mutation of Antennapedia replaces antenna
with leg-like structure.

The following statements were made with reference to Antennapedia:

A. In a dominant Antennapedia mutant, the Antennapedia gene is expressed in the
head as well as in thorax.

B. In the Antennapedia mutants, the Antennapedia gene is expressed in head
region only and thus promotes leg-like structure in head socket

C. In addition to promoting thoracic structures, Antennapedia protein binds to
and represses the enhancer of homothorax and some other genes responsible for
antenna specification.

D. Antennapedia has no role in thoracic region specification and thus recessive
Antennapedia mutants show no phenotypic effect.

Which one of the following options represents correct statement(s)?

1. A only
2.AandC
3.Band D
4. B only

Options :

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 98 Question Id : 8024371288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

UfeATdiTETT UidH BoHad & daig Es o sififogad Bidl & oyl RR uaA o Jal
SId1| I G795 4Tl U UHId! IdRdd 4ifidT &1 I 9% IRa-1 3 uiadd
@d | Ufearditear & dey ¥ (99 &y 591 g

A U UHET g27riiegr3aiad |, giardifegrsi R aur gy g ag o
AT BId B |

B. Ufifggraaiialddl 8, ofo7rdiiearei- dad RR & &5 & & oy gld &
dYT 39 USHR R TideT § I 922 U= & Uidified &d o

C. 3& g1l &l Uidifed o34 & Sffaliad, ICad/earvida siadRay aul
T AR Sl ol & yfiie & Ao & fou 3aier &, 37 dgfaoRa 4
SYdT g TYUT Hd IR 5

D. &7 war & fafkifpeu & tfeArditsa &1 @3 YA®1 el & ayl Safig Suyrd
Ol ar3dad! By U T&UREdl YHId 81 axid B |

Feifed ®F 91 0@ oy 98] &Y/3Y! &1 Gl 87

1. Hdd A
2 ATYUIC

3. BAYTD
4. Hdd B

Options :

8024375149. 1
8024375150. 2
8024375151. 3
8024375152. 4

Question Number : 99 Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The development of anthers and male gametophytes is highly conserved among
angiosperms. Following are some of the events associated with pollen
development, in random order.

(@) Microsporogenesis in pollen sac to produce a tetrad.
(b) Asymmetric division forming immature pollen grain.
(c) Archespore division.

(d) Division of generative cell to form two sperm cells.

(e) Callase digestion to form free microsperes.

Which of the following option represent the correct series of events during pollen
development?

1@, (b) (9 (d). (e)

2.(c) (@ (e} (b) (d
3.(a (9 (d) (b) (e)
4.(c) (e} (a) (b) (d)
Options :

8024375153. 1
8024375154. 2
8024375155. 3
8024375156. 4

Question Number : 99 Question Id : 8024371289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Hgasredl H WRIDIET T4 R HdIhaal ®f [do Hdlts Wigd g1 FHifed
DS YA RATHY o [do & G J 8, AFafa sa | |

(@) WRATHI H Ity & FA & o aydisiue-H |

(b) SMIRUTa URFT HU & oY SEafEd U |

(c) 3IfE ST |

(d) T JEHTU] BB DI T o [T IAUCD HIRABT Bl [AHGH |

(e) T T[S &l a9 & 7T dhaist e |

fFifehd S 91 fddod I fadTd & SR & e1el bl 98l HH H e &7

1.(a (b) () () (e)
2.(c) (a) (e) (b) (d)
3., (d (d) (b) (e)
4.(c) (e) (a) (b) (d)
Options :

8024375153. 1
8024375154. 2
8024375155. 3
8024375156. 4

Question Number : 100 Question Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following are certain statements regarding C; C3, Cq4 and CAM carbon

metabolism in plants.

A. In C; cycle, one molecule of 3-phosphoglycerate formed during carboxylation
phase is utilized for the biosynthesis of sugars, fatty acid and amino acids

B. During C; cycle glycine is transported from peroxisome to mitochondria and
glycerate is transported from peroxisome to chloroplast

C. The concentration of CO; in bundle sheath of C4 plants is several fold lower
than the external atmosphere

D. The stomata of CAM plants open at night

Which one of the following combination of statements is correct?

1. Aand B
2. BandC
3. Aand D
4 BandD

Options :

8024375157. 1
8024375158. 2
8024375159. 3
8024375160. 4

Question Number : 100 Question Id : 8024371290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fifdd $8 Y Tl F ¢, Ca, C, TUT CAM BT UM S TGH T B |

A. C: 9 H, PElGaaH & GRM &4 gU 3-BIREBIHe &1 Uh U] JADh, T4
37 T ST 3! & AgELeyu H Uged g Sdl 8l

B. C, O t GRIM T3 dlH & RYHRU WHRNTHE I THaftml  H qul fewRe
B R RAFHEH S gRaaas Heidi & |

C. C, UMt o Ueilesdic H CO, 1 Tigdl aIgyl aalaRul § ®s IH1 &H Bl g |
D.caM Qi B AR H Gl sicdi 2 |

Sl @1 fifdd @ 91 U® Hd Jal 6 ?

1. AdUIB
2.BdUlC
3.ACQYUID
4 BdUID

Options :

8024375157. 1
8024375158. 2
8024375159. 3
8024375160. 4

Question Number : 101 Question Id : 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Following is the list of cellular responses of root hair to bacterial Nod factor and
timing of their induction, which may or may not be matched.

Response Timing

A. Membrane potential depolarization I. within 1 min

B. Ca®* spiking in and around root hair cell nucleus Il. within 10 min

C. Root hair growth perturbation, pause in growth, lll. over a period of
curling hours

Which one of the following is the correct match ?

1T.A-i,B-ii C-iii
2. A-ii,B-i, C-iii
3. A-iii, B-i,C-ii
4 A-i, B-iii, C-ii
Options :

8024375161. 1
8024375162. 2
8024375163. 3
8024375164. 4

Question Number : 101 Question Id : 8024371291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fifed gl ga aHi &1 Sialftas Nod RS & [0 SIS Ufafsar a4 39a
dc ®Id @I G2Nidl o, 5l gHfcd el I 981 Y1 sl 9ad © |

PIGIER] qHg-UAch

A [t favg fayao i. 1 min @ 3
B [0 O SI® osd H§ U IRIaR® Ca2*  [ii. |10 min 3 362

PIRiE]
c |[gada gfs oafdwy, 9fs o favm, daa i, [gel @ 3afy o
f=ifeed ®F 91 UP Yol Hd 872
1. A-i, B -ii, C - iii
2.A-ii,B-i, C-iii
3. A-iii,B-i,C-ii
4. A-i, B -iii, C -ii
Options :

8024375161. 1
8024375162. 2
8024375163. 3
8024375164. 4

Question Number : 102 Question Id : 8024371292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Plant growth hormone receptors, namely TIR1, GID1, COI1 and PYL1 were
knocked out independently in Arabidopsis plant. The resultant plants are named
as tirl, gid1, coil and pyl1. Which one of the following statements regarding the

above Arabidopsis plants is correct?

1. tir7 is defective in ABA signaling while coi7 in gibberelline signaling
2. gid1 is defective in auxin signaling while py{1 in JA signaling

3. coi1 is defective in JA signaling while pyl7 in ABA signaling

4. tir7 is defective in gibberellin signaling while gid7 in auxin signaling

Options :

8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 102 Question Id : 8024371292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Uey gfe e wfgdi, 99 f& TIR1, GID1, COI1 Yl PYL1 &I OWasiEe
(Arabidopsis) U164 H - 4 Y R4 fasar man | oo 9islf &1 tirt, gid1, coil
and pyl1 SIGT HifGd 601 T | IRIad ey Uil & gy J Fifed
®IF 9 U &Y Tgl 82

1. tir1 ABA TebdH H Afequl & Said coi7 oTsifeH HdodH H1

2. gid1 3T GobeH H FYUl § Said pyl1 JA Hhaa | |

3. coi 1 JA UdhaH H FCYU g Waich pyl1 ABA Hbad H |
4. tir1 Tordie Gaba o eyl & Seld gid1 iR b o |

Options :



8024375165. 1
8024375166. 2
8024375167. 3
8024375168. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Followings are certain statements regarding phytochrome-mediated signal
transduction in Arabidopsis:

A. phyA and phyD are photo-stable, while phyB, phyC and phyE are photo-labile.

B. Prolonged light exposure and the conversion of PgA to PggA cause phyA
concentration to drop.

C. Exposure of light and conversion of Pg to Prg cause movement of
phytochromes from the cytosol into the nucleus.

D. phyB lacks nuclear localization sequence and depends on transporter protein
for nuclear import.

Which one of the combinations of above statements is correct?

1. Aand B
2. AandC
3. AandD
4. BandC

Options :

8024375169. 1
8024375170. 2
8024375171. 3
8024375172. 4

Question Number : 103 Question Id : 8024371293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fifed o8 YT OTRSTEY (Arabidopsis) T8 T UTGUaUd-HE Tdbd URITHA

s dgid &

A. phyA TYT phyD UBIRI-GEG &, Sdidh phyB, phyC TYT phyE HHRI-HRRR ¢ |

B. GIHdIci- UBIRI SHTGRUT Yl PrA T PrpA H TUIARUT phyA H5dl & Gd- @I
PIRUE |

C. UHTRT SHIGI0 TYUT Py BT Prg H TURYI & BRU UIGUAU®] &1 BIReiaad
U Ha® § YAV B8 |

D. phyB & B5® S T®HU 3HH & U4 5ldl & ayl &b 3 ard & g
giaE® UicH W R g g |

JURIGd TYH! B B 91 TS 0 Hal 6 ?

1. AdUIB
2. AdYUIC
3.ACQYUID
4 BdyiC

Options :

8024375169. 1
8024375170. 2
8024375171. 3
8024375172. 4

Question Number : 104 Question Id : 8024371294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The gene encoding for mevalonate-3-kinase is disrupted in a certain plant. Which
one of the following statements concerning the above plant is correct?

1. Mevalonic acid 3, 5-biphosphate will be synthesized, while there will be no
synthesis of Mevalonic acid 5-phosphate.

2. Mevalonic acid 3, 5-biphosphate and Isopentenyl diphosphate will be
synthesized.

3. There will be no synthesis of Mevalonic acid 3, 5-biphosphate but Mevalonic

acid will be synthesized.
4. Acetoacetyle-coA and Mevalonic acid will not be synthesized.

Options :

8024375173. 1
8024375174. 2
8024375175. 3
8024375176. 4

Question Number : 104 Question Id : 8024371294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

©s Udl T HardiHe -3-dle-s & e d- did o4 Sidd sid & | SWiad gidf &
Ye & FHifed &H 91 U By 98l 87

1. HATAH® 37 3, 5-pRbe H Y9 §11, Said Hardai—® i 5-BRbe
CAREGLE N ERHEUI

2. HATdlHd 3 3, 5- [SEhEbe gyl AU SEbEbe &l TRAY gAT |

3. A4S 3 3, 5-[IThbe Bl YUl el 8FT U] HalHd & P
G T |

4, UFEEUffed-coA TUl Hardi-ig T &1 IR0l 48! sl |

Options :

8024375173. 1

8024375174. 2




8024375175. 3
8024375176. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Plants perceive effector proteins from pathogen to mount a strong defense
response. The following statements were made regarding signal transduction
events upon perception of a pathogen.

A. Influx of Ca®* and H* ions into the cell

B. Influx of K™ and CI” ions into the cell

C. Efflux of Ca* and H* ions out of the cell

D. Efflux of K™ and CI” ions out of the cell

Which one of the following combination of statements is correct?

1. A and B only
2. A and D only
3. B and C only
4. Cand D only

Options :

8024375177. 1
8024375178. 2
8024375179. 3
8024375180. 4

Question Number : 105 Question Id : 8024371295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Ule) U e W&l SHfshar ®IIfUd @3- & U IS & WHEdIGS HidH| &l
TR @d § | Ut INTS-Id o TTeR 3 R g dId Ydbd URITHA "e-msif & g |
ifted &Y= a9 1Y |

A BIEET F Ca* aul H* G &1 3<idig

B. BIFT®I H K* TUT CI- 39! T A<dig

C. DITDHI & T8 Ca2* TYUT H* - T P digdie
D. BIFHI & §18 K* dUT CI- 34| @I digdie

T B E P G HT T8l 6 ?

1. AdUIB
2 AdYUID
3.BdUIC
4 CdyiD

Options :

8024375177. 1
8024375178. 2
8024375179. 3
8024375180. 4

Question Number : 106 Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The action potential recorded from pace maker tissue (SA/AV node) of
mammalian heart is shown in the following diagram:

S ANA



mvy

VAV,

Time

On the basis of mechanism of generation of action potential in pace
maker tissue (SA/AV node), the following statements were proposed from the

above figure
A ‘funny’ channels are activated at 'b’
B. Outward flow of K™ occurs at ‘a’
C. T- Ca™" channels are closed at ‘c’
D. Fast Na™ channels are opened at 'd’
E. The upward phase at 'd’ is largely due to inward movement of Na*©
Which one of the following combinations represent correct statements?

1. AandB
2. BandC
3.Cand D
4. DandE

Options :

8024375181. 1
8024375182. 2
8024375183. 3
8024375184. 4

Question Number : 106 Question Id : 8024371296 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

WHYURT 85d & 7id FaMEE Sdd (sa/av e I 1fidiad feu 11 far favg

mv

1

-40 -

-60 4 k3
b

Time

T FaM® Sdd | Sdiied g ard fhal fayug & Faiafe & oMYR IR, IWiad
IHE ¥ = $YH Udriad (eu g |

A.'b TR BT (funny) TUITE TRFA BIATE |

B.a K ®IARI UGG Bidl § |
C.'c R T-Ca** WU §C BIAT © |
D. 'd' TR §d Na* WISl G Sl 2 |

E. *d’ TR 3fRIS] Urae4T Tl Na* & H~= AN Y 8idl
fifed BIF W TP A7 S HUAl DI Al 6 ?

1. AdYIB
2. BdUlC
3.CdUlD
4 DdUTE

Options :



8024375181. 1
8024375182. 2
8024375183. 3
8024375184. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

Some metabolic aspects of the Red Blood Cell (RBC) are proposed in the following
statements:

A. Synthesis of fatty acids does not occur in the RBC
B. The pentose phosphate pathway is operative in the RBC
C. RBC cannot synthesize reduced glutathione (GSH)

D. RBC does not contain enzymes like adenosine deaminase and pyrimidine
nucleotidase

E. NADH-dependent methemoglobin reductase system is present in RBC
Which one of the following combinations is NOT correct?

1. Aand B
2. BandC
3.Cand D
4 DandE

Options :

8024375185. 1
8024375186. 2
8024375187. 3

: No Is Question Mandatory : No



8024375188. 4

Question Number : 107 Question Id : 8024371297 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ATd Jad BIHT (RBC) & e U=l Ueqsi ®f e oy § ukarfad fear T &:
A. RBC ¥ 34T (%l &I §X90l 781 Blal ¢ |

B. RBC # U<l thIEhe UY RAURIMA gl g |

C. RBC U TS (GSH) BT YRl -Tg] B Jabel] |

D. RBC # 3R faufims qur ditffss af&miftsv S tomsa el e & |

E. RBC H NADH- STHTRG HYARCIET ISdcs Ul Su gidl &

frifepd 4 |1 U ol 95l T8t 87

1. AdUIB
2.BdUlC
3.CdUID
4 DdHTE

Options :

8024375185. 1
8024375186. 2
8024375187. 3
8024375188. 4

Question Number : 108 Question Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Insulin is a heterodimer made up of A and B peptide chains joined by the intra
and interchain disulfide bridges formed between amino acid of respective chains
as suggested below:

A Ag Ay

B. A7 B>

C. Az Big

D. A5 Bys

Which one of the following represents the correct disulfide bridges joining A and
B chains of insulin hormone?

1.A Band D
28 Cand D
3.A BandC
4B, Cand D

Options :

8024375189. 1
8024375190. 2
8024375191. 3
8024375192. 4

Question Number : 108 Question Id : 8024371298 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



oI e ST 11 8, Sgfe U i 9T Tefid gaars & oid 94 3o ayl
ARG SEUcHISS Ud U O[S §U A dY1 B ULTSS Yaars & Udh faunfzay &

A. ‘qﬁ All
B,A? ,i_f,’?r
C AEU Blg
D. A5 Bys
fifeed ®1F 1 UE e g & A TY91 8 §EarH &1 Sie- ard 9eid
SEUTHSS Ud B Gia &

1.ABdYID
2.A CdUID
3.A,BdYUIC
4B CdylD

Options :

8024375189. 1
8024375190. 2
8024375191. 3
8024375192. 4

Question Number : 109 Question Id : 8024371299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Fibrinogen, Factor |, is a soluble glycoprotein present abundantly in plasma.
Following biochemical characteristics are given below about this glycoprotein:

A. It is a dimer of the three polypeptide chains(A4 Bg )2

B. It is a dimer of two polypeptide chains(A, Bg);

C. The chains are covalently linked by 29 inter- and intra- chain disulfide bonds
D. The chains are covalently linked by 19 inter- and intra- chain disulfide bonds
Which one of the following represents a combination of correct statements?

1. Aand C
2. BandC
3. Aand D
4 BandD

Options :

8024375193. 1
8024375194. 2
8024375195. 3
8024375196. 4

Question Number : 109 Question Id : 8024371299 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



WIS, R |, WIeH H Fgdl H Ul §F a1e U go-=id TasemeH o |
SO TARPMICH & O 7 FE st Sifiast GT T §:

A. Tg TIF UTIUETSS aenst (A, By y), 1@ G0 & |

B. U8 Gl UIIUETES TA3H (A, By), @1 Gad g |

C. §FeU 29 HR-TUT HicR- YT STchlne HEH U YgUdiel €4 4 IS gid
gl

D. 4T 19 SR-TYUT SR-YE SR Ychis e Y Yeuuhell &4 9 93 8
gl

i ®F 1 Ud Ugl dyH! &1 Hel Wid Bl 87

1.ATUIC

2.BaYUIC

3.AQYID
4 BdYID

Options :

8024375193. 1
8024375194. 2
8024375195. 3
8024375196. 4

Question Number : 110 Question Id : 8024371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Testosterone is a steroid hormone about which a set of statements are given
below:

A. It is secreted by Leydig cells of testes.
B. It is secreted by Sertoli cells of testes.
C. It inhibits secretion of luteinizing hormone from anterior pituitary.

D. It does not inhibit secretion of follicle-stimulating hormone from anterior
pituitary.

Which one of the following combinations represents correct statements about
testosterone?

1. Aand C
2. BandC
3.Band D
4 Aand D

Options :

8024375197. 1
8024375198. 2
8024375199. 3
8024375200. 4

Question Number : 110 Question Id : 8024371300 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



SRR T TIUS BHH & o IR H Syl &1 U g - fea T g:
A. T8 GUUI & QST SIfiemre gR1 ifdd elar g |
B. TS UV & WeIdi PIADIST gRI Fad sial & |

C. T8 31 URgfie] ¥ Yoo gl g & 91d &l Adbdl ¢ |
D. 48 ¥ UG ¥ Yeh- I5 U gMHH & did ®f gl Addl & |
Fifdbd B U1 U Hd SR & d) Gl HyH[ Bl Ukd bl o7

1T.AGUl C
2.Bdyl C
3.BdUl D
4 AUl D

Options :

8024375197. 1
8024375198. 2
8024375199. 3
8024375200. 4

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A scientist synthesized four new chemicals which had mutagenic potential and
named them as C1, C2, C3 and C4. He tried to analyse the nature of mutations
caused by them and obtained the following results:

Mutations Mutation reversed by

produced by

mutagen 2-Amino  |Nitrous Hydroxyl Acridine
purine acid Amine Orange

C1 Yes Yes Some No

c2 MNo MNo No No

C3 Yes Yes No No

Cc4 No No No Yes

Which one of the following answers describes the mutagenic potential of
the chemicals?

1. C1 causes transitions, C2 causes transversions or large deletions, C3 causes
transitions and C4 causes single base insertions or deletions

2. C1 causes transversions, C2 causes transitions, C3 causes transversions and C4
causes large deletions

3. C1 causes large deletions, C2 causes transitions, C3 causes transversions and
C4 causes single base insertions

4. C1 and C3 causes transversions while C2 and C4 causes transitions

Options :

8024375201. 1

8024375202. 2



8024375203. 3
8024375204. 4

Question Number : 111 Question Id : 8024371301 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TS d¥I-e - IR 74 THIH! B Gaiid o1 foH IdRad-o1 &HdT & Ul 3901
C1, C2, C3 U C4 WY FHIidbd bl | d 340 gRI 1 a1 IARAd-l & UDId Bl

e fopar gyt =1 ool &f ura foea:

JARaddedl  [IARadd &l 34 gR1 Uidaiad fear man

&R 3difad -

Iaiady 2T [3cE pEsifdaa ([ufmfEd eme
R Rl [UEA

C1 Fl &l 3 el

c2 Tel Tl Tl Tel

3 Hl gl Tel el

C4 Tel Tl Te! Gl

rifhd @1 91 Td Ik T91aH1 &I SARad-To-T &Hdl @ aiold &dl 67

1. C1 O AT [transitic:ns]l%ﬁ?ﬂ%ﬂ Czﬁm (trans- versions) 7 famma
I gla 8, €3 T UsHHUI BT & AU c4 ¥ Udhdl &R Fd2H 41 fadu= 81 & |

2. C1 ¥ TFUaYH BId1 8, c2 T AU BId1 &, €3 U T-uad-4 gidl & a7 c4 § faura
fae- g g |

3. C1 9 fure fadiu giar g, c2 9 dhHu gidl 8, €3 ¥ gi-uad-a sldi g aurc4 9
Uahel &R AT Bl ¢ |

4.C1 Y1 €3 Y Ti-9ad-4 Bidl & Siafds C2 9UT 4 Y IhH Bidl © |




Options :

8024375201. 1
8024375202. 2
8024375203. 3
8024375204. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fertilization of gametes containing chromosome with duplications or deletions
often results in children with disabilities. ~ What is the probability of a couple
where the male is karyotypically normal and the female has a pericentric inversion
in heterozygous condition producing a child with disabilities if crossing over took
place within the pericentric inversion in 26% of meiotic divisions?

In this case consider that fertilization with a gamete containing chromosomes
with duplications or deletion will result in disabilities.

1. 26%
2. 13%
3. 25%
4. 50%

Options :

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 112 Question Id : 8024371302 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



feaoHET a1 fadi=T ard oAl ¥ god el & HuDE 8 Id- gU i § U
fapaiTany (eman) et & | 3% 26% el fauemt & fafmg uie=t ufoaam
& 3G Bl & dl Ua g foHH R UREUEYT WA § aul Arel § fquagies
3faeyT # U uRd=l Uldaiad 8 df 374 Jdifed U a= H fddaiTad (&)
&iH @ WRIRiddl &1 gl

<4 HIHG H 98 AFGR 9 b [9700H1 a1 [qaiu=i are orRgEl 9 gad TEd! & FHugH
Y [aPparan (3f&Hds) 3a— sif |

1. 26%

2. 13%

3. 25%
4. 50%

Options :

8024375205. 1
8024375206. 2
8024375207. 3
8024375208. 4

Question Number : 113 Question Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In D. melanogaster, traits 'a’, ‘b’ and 'c’ result from recessive alleles that are
located on one of the autosomes. The resulting F1 females were test crossed and
the following progeny (total of 1000) were obtained:

& b 350
a b c 25
a b c 380

8 e 35



a bc 100

g b c* 10
a bct 85
a b*c 15

The following conclusions were made from the above data:
A. The order of genes is a b c and the distance between a and b is 8.5cM.
B. The order of genes is a ¢ b and the distance between a and c is 8.5cM.
C. The order of genes is b c a and the distance between b and c is 21cM.
D. The order of genes is c b a and the distance between b and c is 8.5cM.
Which one of the following options represent statement(s) that is/are correct?

1. A only
2.AandD
3.BandC
4. D only

Options :

8024375209. 1
8024375210. 2
8024375211. 3
8024375212. 4

Question Number : 113 Question Id : 8024371303 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



g1 AR (D. melanogaster) 'Ff ﬁﬁTET‘ITQ ‘a’, ‘b’ TYT ‘¢ HUHTET W P

I Bid & 9l fop S TR afyd § | U 900y YHgHs HoHad! o Uh
JaRafad SoHaa 9 Sl ol a1 fomd gyt 3 faftmeans g1 oo F,
ATGTH! &1 TI&m TR SRl 1 aul FHE (@d 1000) Fdfadi Ui b Ta;

a b 350
abc 25
g b 380
g b 35
a bc 100
abc 10
a bc 85
F e 15
S sl U FAHiiod (wwy Har 72

ASHIBIPHabcdUlald b & dld B gl 8.5cM B |

B.GiHI &I T acb e ddla Ud c & dld @I Gil 8.5cM B

CHHi @I PabcacddibUd ch A BIGH 21cM © |

D. W BT cbas ddl b Td c & &d I gl 8.5cM B |

F=ifed @ T te fadey 34 fadeu/fadcdl @1 gxidl & ol U8l 82
1. Had A

2. ATUID
3. BTYUIC
4. HAAD

Options :
8024375209. 1



8024375210. 2
8024375211. 3
8024375212. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The table given below shows the Lod score values of three different pairs of genes
studied for assessing if they are linked pairs:

Gene Pair "1 Gene Pair 2’ Gene Pair '3’

Lod Score 1 2 3

The following conclusions were made from the data given above:

A.  For gene pair 1 the probability of the genes being linked is 10 times more
likely than them assorting independently.

B. For gene pair 2, the Lod score 2 indicates that the probability of the genes
being linked is twice more likely than assorting independently.

C. The genes of pair 1 and 2, can both be considered as linked, while the genes
of pair 3 exhibits independent assortment.

D. The genes of pair 3 can be considered as linked.

Which one of the following options represents statement(s) that is/are
correct?

1. Aand C
2 BandD
3. Aand D
4. AandB

Options :

8024375213. 1
8024375214. 2
8024375215. 3



8024375216. 4

Question Number : 114 Question Id : 8024371304 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fifd grult dF fafi= Sfi9f & Sifsal & Lod Wdi® Jod &I axiidl & foHd1
ST 39 91d & o & (g (a1 T 7 d G Jifadi & 91 Tk

S Sa ‘1 | S eiel 2 | SiF e 3

Lod UTdI®H 1 2 3
SRIad Hidst 4 H sy Ferd 140
A SHOIE 1 % U S S G o &1 TRIaT 3% Wdd AUET e o
10 THT &b GHIA E |
B. S WISl 2 & AU, Lod WIKiich 2 GRITdI B fao SiHI & Ygoi™ B ol TG
Gd-d AU B Y I THT 3Hfeh YHIT & |
C. SIS 19T 2 B S, GHf &I Hgamil 91 ol 9l g, Jieid Siel 3 &I o
W HUge c2idl & |

D. Slel 3 Bl oAl Bl Geor- 5 o Ubdl & |
F=ifhd B1H 1 U fadbed SY=/HYHl &l aXidl & ol [ 9did o7

1LAdYIC
2. BdylD
3.AQYUID
4 AdYUTB

Options :
8024375213. 1
8024375214. 2



8024375215. 3
8024375216. 4

Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gene ‘A’ in mouse is needed for its normal growth [normal size]. Mouse strains

with deletion in gene ‘A’ (A%") have been developed.

When the following cross is made
G A%l A xAAT

all progeny (both males and females) are of normal size.

When the F1, progeny with the following genotypes are crossed:
I AdelAx pp O

50% of the progeny obtained are small in size.

The above observation can be explained by:

1. Maternal inheritance
2. Maternal imprinting
3. Paternal Imprinting
4. Maternal effect

Options :

8024375217. 1
8024375218. 2
8024375219. 3
8024375220. 4



Question Number : 115 Question Id : 8024371305 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ie O g ofe [ HSR] & U oF 'A° & H[ahddl sldl &1 ggl &I A%l
ol [qa ard fovan a1 foH ofi9 A faeiitd & (ads)

o = Ug&H 0 S Tl

O Adel A L AAT
gt dafadl (R ud gra1 g &1 SR IE 8| §d (5 Siueyl ard

F1 Gdfcdl &1 TH®0] &l T4
:" ‘&'del.ﬂk;{ gj&l;
50% U Halddl &1 AR Bl 6 |
JIRIad fddid- &I 394 afvid fodl off 9&hdl & ;

1. ATGD dRFI
2. Algeh AL
3. U DA
4, HIgD YHd

Options :

8024375217. 1
8024375218. 2
8024375219. 3
8024375220. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In a mammal, coat colour is governed by gene B, The coat colour is either black or
brown, depending on whether the genotype is BB or Bb. It is not known which of
these genotypes lead to the black and brown colours. The genotype bb results in
albino coat colour. Further, the genotype cc suppresses the expression of coat
colour resulting in albino coat colour. An albino male was crossed with a brown
female and the resulting progeny had individuals with either black or brown coats.
From this observation it can be infered that the genotype of the male and female
that were crossed are:

1. BB cc and Bb CC, respectively
2. Bb cc and Bb CC, respectively
3. bb CC and BB CC, respectively
4. bb Cc and BB CC, respectively

Options :

8024375221. 1
8024375222. 2
8024375223. 3
8024375224. 4

Question Number : 116 Question Id : 8024371306 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



s THYR H, SR (@1d) &1 T SiF B gR1 Fafad 81 8 | Sfaror &1 F1ardl
I & HYAT WX § o [t 59 a1d W R § i SiHueu BB § T 8b © | I8 T1d 1ol
¢ fb 37 ¥ @H 91 SHUEY SId 9yl Y2 T S SRS ol SHUSY bb Udd
(@uidei-) HIERU &1 TN IU~ DRl & | dGURI, SIHUEY cc A0 T & ffHaafdd
@ GHd ®al & UNUMEEY 49d 1 &1 A0 30 eidl & | TF 49d R @l
THSHRON HY HIGT ¥ DAl T qUT uRomE! "atadl 7 a1 df SIe a1 437 TR0 S
g3 | 39 JHdaild 4 g8 ey e ol Ghdl & fov UHau sl T/ R aul Jal
@ ouEd 5

1. BB cc AT Bb CC, PHTER

2. Bb cc AT Bb CC, HHTER
3. bb CC TYT BB CC, HHER

4. bb Cc YT 88 CC, HHATER

Options :

8024375221. 1
8024375222. 2
8024375223. 3
8024375224. 4

Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diagram below shows the floral diagram of the family Malvaceae. Parts of the

diagram have been labelled from A-D.




Labels Floral characteristics

A i Monothecous stamens
B i |Syncarpous ovary
C iii  |Epicalyx
D iv  |Fused sepals
v |Apocarpous ovary

Which of the following combinations represent all correct matches between labels
and floral characters?

1. A-iv; B-v; C-iii; and D-i
2. A-i: B-v; C-iv; and D-ii
3. A-iii; B-ii; C-iv; and D-ii
4, A-i; B-ii; C-iii; and D-iv
Options :

8024375225. 1
8024375226. 2

8024375227. 3
8024375228. 4



Question Number : 117 Question Id : 8024371307 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Feifard SR ATadd! (malvaceae) T@ & I8 ARG DI GRIdl & | G & YT @l
A-D T 3ffed [ mar 2|

C iii aﬁﬂﬂtﬁf
D v TATeTd dIelad
v fagadisdl sigE™

F=ifed B 91 Uh fadhed Gl ATHTETN TUT 3idh-1 &I Fel Hel Wdd Dl 82

1. A-iv: B-v: C-iii: and D-i
2. A-i: B-v: C-iv: and D-ii

3. A-iiiz B-ii: C-iv: and D-ii
4. A-i: B-ii: C-iii: and D-iv



Options :

8024375225. 1
8024375226. 2
8024375227. 3
8024375228. 4

Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The following diagrams (A to D) show characteristic arrangement of stamens

within a flower and (i) to (v) enlist families of plants.

-t D

PP

i. Cucurbitaceae
ii. Fabaceae

iil. Malvaceae

iv. Asteraceae

v. Euphorbiaceae

Which one of the following options has all correct matches between the

arrangement of stamens and the families they belong to?

T.A-v;B—ii: C—Hii: D - iv
2 A-ii;B-i;C—iv; D -ii
A B-iiC—iv:D-i
A 4A-vB-—iiC—i:D-iv

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4



Question Number : 118 Question Id : 8024371308 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

9 RY (A U D) T U8 F GhaR| 1 A& fa=ar, TuT () § (v) T4l & Bl
CAR LR G

o g
AR ej |yn;v

i W(Cucurbitaceae]
. ﬁﬁﬁl Fabaceae)

iii. Iflﬁﬁf( Malvaceae)
iv. Q@?ﬁ ( Asteraceae)

um(Euphorblaceaej
fifed foog ue fawey o ool & faurg qur i od T 4 Jef¥d g, 39 di

@ 9ol Hd &2

T.A-wv:B—ii: C—iii: D -
2A-IB-i:C—v:D-ii
JA-iiB-ii;C-iv;D-i
4 A-vB-i:C—-i:D-i

Options :

8024375229. 1
8024375230. 2
8024375231. 3
8024375232. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1



The figure below shows reptilian skull types (A to C), class of organisms (i to iii)
and examples of animals (X to Z).

i. Diapsid X. lchthyosaurs

ii. Anapsid Y. Snakes

ili, Euryapsid Z. Tortoise

Which one of the following options shows correct matches between the three
components?

LAY, Biii, Z; C i, X
2B i, Y, AiX; Ciii, Z
3.A0,Z B, X, Ci, Y
4. B,iii, Y; A ii, X; Ci, Z



Options :

8024375233. 1
8024375234. 2
8024375235. 3
8024375236. 4

Question Number : 119 Question Id : 8024371309 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



i Yaifes T3y QuSl & UeR (A 9 ©), Sl @1 80 ¢ 9 i), au
O3l & JEE0 (X ¥ 2) X B |

i. Diapsid X. lchthyosaurs

ii. Anapsid Y. Snakes

iii. Euryapsid Z. Tortoise

f=ifed 1 W U@ fd®ed SWRiad diF 3/addl & &g & el Hd Gidl g ?

1A LY, B i, Z, C i, X
2B i, Y; AiLX; Ciii, Z
3.A 0, Z B i, X Ci Y
4.B,iii, Y; A i, X; C i, Z
Options :

8024375233. 1
8024375234. 2

8024375235. 3
8024375236. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Column | list names of organisms and column Il list stages in life cycle.

Column | Column Il
A [Taenia i. |Hexacanth
B |Obelia ii. |Glochidiom
C [Unio lii. [Planula
D |Balanoglossus iv. |Tornaria
v.  [Miracidium

Which one of the following options represents all correct matches between the
two columns?

1. A-i; B-ii; C-iii; D-v
2. A-iii; B-ii; C-ii D-v
3. A-i:  B-iii: C-ii; D-iv
4. A-ii; B-v; C-iii; D-iv
Options :

8024375237. 1
8024375238. 2
8024375239. 3
8024375240. 4

Question Number : 120 Question Id : 8024371310 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



DI | Siidl o 3 JYT DIH (1 Sita 6 1 SaRITHT Bl Yellds Hdl & |

DIy | DI I
A 14T (Taenia) . YSPA (Hexacanth)
B ST (Obelia) i. [@rfefadd (Glochidiom)
Cc  [@Faf (Unio) i |@T (Planula)

D CLNEIEieees| (Balano-glossus)  |iv. EHEIES]] (Tornaria)
V. ﬁﬁﬁiﬂ%ﬂﬂq[hMraddhuﬂ]
i &9 U1 U [adhed GHi dicHl & did &I el Hol UEqd &3 67

1. A-i: B-ii; C-iii; D-v
2. A-iii; B-ii; C-i; D-v
3. A-ip  B-iiir C-iip D-iv
4. A-ii; B-wv: C-iii; D-iv
Options :

8024375237. 1
8024375238. 2

8024375239. 3
8024375240. 4

Question Number : 121 Question Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are statements regarding apomixis, i.e. asexual reproduction through
seeds

A. Sporophytic apomicts often produce a mix of clonal and sexual progeny

B. In gametophytic apomixis, the unreduced central cell gives rise to apomictic
embryo

C. In pseudogamy the endosperm is formed in the absence of fertilization

D. Apomixis can potentially be used to maintain hybrid vigour over many
generations

Which one of the following options represents the combination of all correct
statements?

1. Aand C
2. BandC
3.Cand D
4 AandD

Options :

8024375241. 1
8024375242. 2
8024375243. 3
8024375244. 4

Question Number : 121 Question Id : 8024371311 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



i ST, Sufa e & gR1 3cifile - & Ty § sy Ru i 2

A, SO-3REg TS U deH gl dRie dafadl & Ud fHeu Sa= &l
gl

B. JH®D GG STHA H, P ds1d HIIBI HETAHD YU I~ B ¢ |

C. MYTEEA § e & srquiufa | Yo &1 faf s

D. 3T B THITGd SUART U2 AW DI - UGl d SFRI&d B | fdodl off
gadl g

fifeed &1 91 U fabey a4t U8t Syl & 5 &f SXidl 87

TAQUIC
2.BdUlC
3.CdUID
4 AdYID

Options :

8024375241. 1
8024375242. 2
8024375243. 3
8024375244. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The linkage density in a food web is a function of the connectance and the
number of species in it. It is defined as the average number of feeding links per
species. Which one of the following would have the highest linkage density?

© ¢
1. (8)
o

e@@ (@)

o¥0
8
OZ6

O
®)
®

@)

Options :
8024375245. 1
8024375246. 2



8024375247. 3
8024375248. 4

Question Number : 122 Question Id : 8024371312 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Ud el O H Jeoidl U@ Je-9aodl 9yl 58 SURdd Waliadl & 4l &1 U
Had ol 39®! Uid Uellld Y0 ©al & 319d 9301 & ¥4 § ulRyifvd foar T g
fifaed g U H Hallts Sgadl 9-d gii?

© ¢
1. (8)
o

(2)
(o)) ore

eeme
o004

Calald

Options :
8024375245. 1



8024375246. 2
8024375247. 3
8024375248. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ozone concentration in the atmosphere is measured in Dobson units (Du). An
ozone hole is said to have occurred when the concentration of ozone in the
region falls below 220 Du. The diagram of the globe below shows the location of
three study sites. The table below it shows values of ozone concentrations
recorded at the sites for two dates in 2009.

90 °N
-
: o'
c,_l‘,_ -

90 s

S. No. Recorded Ozone Values
30 March 2009 30 Sept 2009

i 270 290
i 400 240
ii 450 420
iv 250 110




Which one of the following options represents the correct matches between

the study sites and the recorded ozone values?

1. A-i: B-iii and C-iv
2. A-ii: B-iii and C-i
3. A-ii: B-i and C-iv
4. A-i: B-ii and C-iii
Options :
8024375249. 1
8024375250. 2

8024375251. 3
8024375252. 4

Question Number : 123 Question Id : 8024371313 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



IIaTaRul H IS &1 GFEdl 368 (Dobson) $®Ts (Du) H IR f6a1 Srar @ |
T A W & @ e B AEluae s e o9 99 &7 | e 3 9rsal
220 Du 9 A T 9 § | F Ban e &1 o dF sremd et e &
SNl & | 39 1 @ 9ol 2009 3T &l fafiaf ® fyeRad e U oiee arsdl
& I DI AT |

90 °N
B b A
. H
c‘._'_ F

905

5. No. Recorded Ozone Values
30 March 2009 30 Sept 2009

i 270 290
i 400 240
lii 450 420
v 250 110

Fifed ®F U1 U fadbed 31g- &1 9UT STHcRad 3 570l & &g @l
Uel HA Gl g ?

1. A-i: B-iii and C-iv
2. A-iir B-iii and C-i
3. A-ii B-i and C-iv
4 A-i: B-ii and C-iii
Options :
8024375249. 1

8024375250. 2
8024375251. 3



8024375252. 4

Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A population of crickets invading a new grassland showed a population growth

pattern as shown in the figure

23
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=
— Carrying capacity (K)
=
=
= - 8
= "= e
— —
=
o Tirme -

Following is the list of potential interpretations:

A. Environment is damaged due to population overshooting its K

B. The resources did not recover and population dies out

C. Carrying capacity is lowered due to shift in environmental conditions.

Which one of the following options/combination of options can correctly explain

the cricket growth pattern?

1. A only
2. B only
3. A and Conly
4. B and C only

Options :

8024375253. 1
8024375254. 2
8024375255. 3
8024375256. 4



Question Number : 124 Question Id : 8024371314 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TP 79 99YH TR g9U3 @R 36 IRl @ UD &d - 3@ H &1 T Wed &

oI S gfg T |
E Carrying capacity (K)
%
]
= T .
=
o Tirme -
GHITad fadari &1 Qb A B

A, SHYEI BT AU K B a0 S & SR IR, gafaeor  afausd gol
B. GUIYH U §8Td ol g1 TUT SH4Ed] §o ol Ui &R 71|
C. AIaTaRuT gTard § faw1aa & SR UTeH &0 &9 8 T
DY/BYE BT B 9 1 o [dbed IR & gfs WEY B Glhar ° aild

e

1. Had A
2. ®Had B
LATUIC
4. BTUTC

Options :

8024375253. 1
8024375254. 2
8024375255. 3
8024375256. 4



Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the spectra of plant forms (on the basis of where the plants bear
their buds) in different biomes (A to C).

ez e of the various life forms in the
80 L e world for comparison
g — % ol the total flora for cach plant form
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=
2
5 001
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c |3l 7
N
i
g 20}
a % Z m




L2 17 g

Phaenorphytes Hemicryptophytes Therophytes

Which one of the following options correctly identifies the biomes represented in
graphs A to C?

1. A- Mediterranean; B- Arctic; C-Tropical
2. A- Tropical; B- Desert; C-Temperate

3. A- Tropical; B- Temperate; C-Desert

4. A- Desert; B- Arctic; C- Temperate

Options :

8024375257. 1
8024375258. 2
8024375259. 3
8024375260. 4

Question Number : 125 Question Id : 8024371315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

faft= Siai H (A to ©) UTGU ®4Uf & 9uf-Ue (Uigdl & Haidl & 4R B34 & =H
IR A1y " UaH &1 T 8|
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feifehd ®1H U1 U& [ddey WH A Y ¢ § walHid Siaigl &1 9diddl 4 UgdH &l
37

1. A- HIEARIT: B- Jaii-HdIT: C-IWIhicg g
2. A- B B- AEYH: c-=fidis

3. A- SWmIca g B- XA c- TEYH

4. A- TEY: B- SaR-Ydig; C- Ziarso

Options :

8024375257. 1

8024375258. 2

8024375259. 3
8024375260. 4

Question Number : 126 Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are growth and survivorship curves.

A Growth curve B Survivorship curve

Carrying capacity

O

Population size
Mumber of survivors

sk

Percentage of maximum life span

Time

Select the correct combination of growth curves from figure A and survivorship
curves from figure B given above, that would best represent r and K strategies,

respectively.

l.r=aandl;K=bandn
2Zr=bandnmK=aand|l
3r=aandm; K=bandn
4r=bandm;K=aandm

Options :

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 126 Question Id : 8024371316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



-t g qUT ScReiliaal dsb fal T B

A Growth curve B Survivorship curve

Carrying capacity

@,

Population size
MNumber of survivors

=k

Percentage of maximum life span

Al |
r @ ®

Time

IWRITd 3G A ¥ gfS 9 TUT 3R B ¥ Jaikeiiiadl dsb & Gl 6l Dl g-1d B
Sl fob s He: ¢l k¢ Hifadl @ Satear ¥ ufaf-fa o |

lLr=adidl;K=bddln
2Zr=bdiln K=adyll
3r=ad¥ylm; K=bdiln
Adr=bddim: K=adllm

Options :

8024375261. 1
8024375262. 2
8024375263. 3
8024375264. 4

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The following four climatograms depict observation of mean temperature and



raintall tor tour locations. 1he solid lines depict temperature while the dashed line
depicts rainfall.

[=] =]
A 40 < MMeng S0 ™M 300
B
e —”’_ﬁ“"a__ S
20~ 1250  25f “‘f 1150
ﬂ i | ﬂ i i | u
Jan Jul Dec Jan Jul Dec
b mm
c 40 — 0 200
L o -
20~ j \ 20 -100
i i i il G i 1 k ekl | § D
0 Jan Jul Dec 0 lan Jul Dec

Given below are five biomes:

L Desert
Il. Savannah
ML Tropical rain forest
V. Mediterranean
V. Conifer ecosystem

Which of the following combinations correctly matches the climatograms to
the biomes?

T.A-iv B-1i C-i D-v
2.A-v B-iv C-ii D-iii



3. A-iii B-ii C-i D-iv
4 A-v B-iii C-ii D-i
Options :

8024375265. 1
8024375266. 2

8024375267. 3
8024375268. 4

Question Number : 127 Question Id : 8024371317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Feifed 9R diag fiF IR &3 & 319 d9eH oYl 991 & Jfgdie- @ GRid & |
Iad 36T dI9HH Sl 62Md § Seids fowg a1 991 &I G2l § |

oC mm °C mm
4
A 40 500 o 50 300
20} - 280 2 T {150
1 1 1 G I 1 1 1 ﬂ
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o L]
40 — LULLPPY 30-C MM 54,
C _/’ ™y D Fy \\
r’/ ) / N\
20 \_120 151 5 \ 100
i i fi T il D i i i el i n
0 Jan Jul Dec 0 Jan Jul Dec
TRugEEARrmE:
i, TEYE
ii. a1
iii. IWTEmicas guf a9
iv. HHEIRIg
v. Tipge uIiieyfas d<

f=ifed ®1H U1 ey iy o=l @ oid| 9§ Odiaal § Od &l 62

1. A-iv B-ii C-i D-v
2.A-v B-iv C-ii  D-iii
3.A-iii B-ii C-i D-iv
4 A-v B-ii C-ii D-i



Options :

8024375265. 1
8024375266. 2
8024375267. 3
8024375268. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A tree built using BLAST cannot be used to infer phylogenetic relationships. Given

this, which of the following statements is NOT true about trees generated by

BLAST?

1. It is based on a distance method, where alignment similarity scores are used to
cluster sequences

2. It is an exhaustive tool where similar sequences are found by locating all
matches between multiple sequences simultaneously.

3. The generated tree is unreliable because the algorithm is data base-
dependent

4. It is built by first performance seeding following local alignments.

Options :

8024375269. 1
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 128 Question Id : 8024371318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



BLAST &I SUTNT Xcb &-1141 711 9& Siidgeiid Yt/ Uifad & & fad IugiT o
-Te! T o 9bdl & | S9! 66d §U BLAST @1 SUTNT &3 9-1¢ 71 g&l & TGH H
®F 91 HUH Hel 78l o7

1. 98 Ut gdl USld W 3M1Y1Rd &, ofei fb T¥@0 Gaeydl 3idh d I S H|
@ Gpas O3 & fear A 8 |

2. U8 U 9D HIYH § Sel GHH IshHl Bl U 1Y dgd FhH! & dld & g+
Hdl Bl Wieidx ®1fUd fdar Sar g |

3. §T1T 1T 9&f HGRae-id gidl § Fifds s faf¥l (algorithm) b ®IY-3Mf3d
gIaTe |

4. U8 Ugd ®-FsdieA divquH fthe ®ii-d Y@ § dOR Bl ¢ |

Options :

8024375269. 1
8024375270. 2
8024375271. 3
8024375272. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are names of scientists and phrases describing their work, which may
or may not be matched

MName of Scientist Work
i Wallace A, |Inheritance of acquired characters
i (Lyell B. |Natural selection is differential survival or

reproduction

i [Lamark C. |Processes that alter the earth are uniform through
time
iv  [Cuvier D. |Earth’'s geology and natural history have been

shaped by periods of catastrophic extinction and
new creations

E. |Ontogeny recapitulates phylogeny

Which one of the following options represents correct matches between the
scientist and his/her work?

T.i- & ii-B; ii-Civ-E
2. i- B; ii- C; iii- Ay iv- D
3.0-4& ii-GC ii-Eiv-B
4i-E ii- D; iii- A iv- C
Options :

8024375273. 1



8024375274. 2
8024375275. 3
8024375276. 4

Question Number : 129 Question Id : 8024371319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-id 3F1A® & =1 TUT 3 Bl &I dftid Hd ard U g &l fs Aa H gl a1

Te sl g@de |
aq® & 9 G|

i arcid ( Wallace) A, [Iuifora SafoT &t derTa

i e (Lyell) B. |[Widlde aRUT b Iaieiliddl ydl o+
g

i [cHEE (Lamark) C. 999 HEUN U@ ¥ dgard dF 9l
DAY AURTAIRIA € |

iv [ (Cuvier) D. |99l &1 Ydd dul Widbidd 3ider fam=end
faqeiiepRur Ul =1 YT & Sl gRI TGl
Targ |

e, [fEIge Sfdge B GRIgh] oXdl &

Hifed ®IF 1 U fadbed el aUT 39d &1 &l el Hel UEd bl 67

T.i- & ii-B; ii-C iv- E
2. i- B; ii- C; iii- Ay iv- D
30-& Q-G iii-Eiv-B
4i-E ii- D; iii- A iv- C
Options :



8024375273. 1
8024375274. 2
8024375275. 3
8024375276. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In a population that is in a Hardy-Weinberg equilibrium, 40% of the plants are

recessive homozygotes and produce white flowers (WF). If the total number of

individuals in the population is 14000 plants, the numbers of homozygous

dominant red flowered (RF) plants and heterozygous pink flowered (PF) plants

would be:

1. RF- 5600 PF- 1891
2. RF- 1891 PF- 6508
3. RF- 5600 PF- 6508
4. RF- 5145 PF- 8855

Options :

8024375277. 1
8024375278. 2
8024375279. 3
8024375280. 4

Question Number : 130 Question Id : 8024371320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



s SHEE H Gl far gifS-fa-ast ararawar # B, 40% Uit S{yHId] SHgiH Haw]
o & T 9hg g0 (Wr) SdIad @ & | af¢ S9% | Siial ®1 od 9891 14000

qrel Bt ol gEgEs wHId! ofd gierd (RF) Qe aur fausgssh et gitd (er) qaf
ﬁmﬁﬂ

1. RF- 5600 PF- 1891
2. RF- 1891 PF- 6508
3. RF- 5600 PF- 6508
4. RF- 5145 PF- 8855

Options :

8024375277. 1
8024375278. 2
8024375279. 3
8024375280. 4

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

You wanted to conduct Miller-Urey experiment and used a simplified apparatus

with Tungsten electrodes. You heated the glassware at 500°C for 3 hours to

remove any organic contaminants. Gases NH3z, CH,4, CO and H; were introduced

followed by generating electric spark. Which of the essential ingredients did you

forget to add?

1.05
2. H,0
3. HCN
4. CHO

Options :
8024375281. 1
8024375282. 2



8024375283. 3
8024375284. 4

Question Number : 131 Question Id : 8024371321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

31U FHER-GY (Miller-Urey) T4 &A1 dle qyl &2 fdggdad U Jad ciidd
JUHRY] @] IGAN 61| AU Bid & da-1 d fBdl f - Hredi-e dgusl &l geH
& iU 500°C R 3 9Ue & faQ 7 {11 NH3, CH,, CO T H, T &1 Ua &l
g1 fihR [ggdig Spiei 30 601 T/ 31U 1 1 U6 A0S 9 Bl
EIEEIRIGRIDE

105
2. H,0
3. HCN
4. CHO

Options :

8024375281. 1
8024375282. 2
8024375283. 3
8024375284. 4

Question Number : 132 Question Id : 8024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are the few statements on concepts related to genome evolution.

A. Presence of introns in some chloroplast genes suggests that endosymbiosis
(leading to organelle evolution) occurred before loss of introns in prokaryotes
and supports the hypothesis that genes originated as interrupted structures.

B. Negative selection is associated with increased rate of NONSyNonNymMous
substitutions as compared to synonymous substitutions.

C. Nucleotide substitution rates during evolution can be inferred from divergence
of the sequences that are non- functional or neutral.

D. Positive selection is associated with increased rate of NONSyNonNymMous
substitutions as compared to synonymous substitutions.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and C only
2. B and C only
3. A and B only
4. Cand D only

Options :

8024375285. 1
8024375286. 2
8024375287. 3
8024375288. 4

Question Number : 132 Question Id : 8024371322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



ol hiHd [dH1Y DI SGURU & TeH H $8 Sy -id Tgd [T E |

A. DS eRadd® oIl H 3¢ @I Jufyfd ukaifdd axai g fd  sia-ageiiad (3|
o i [dHr @I HiduliGd &3 are) Wi Rdle! § 3<Mi & g oH 4 Ugd
B T 4T YT 39 AR o] U $d & Sl 9ardl ¢ (b oiiAl &1 i HH-HT
T o g3 |

B. F¥eTdH® IR0 aH1dE RIFG=Tdl ©f qo-l H SEHATYS ®IFY-dl & d¢ gu
XD g GEEdE |

C. PG [GBHY & GRH gloadiess Rl & &) omai ol & 3i&m
HYal ae B, 30 fagaH § uRonfia o s g@ar # |

D. YBRIHD a0l HHTSE AT~ $I a1 H SEHHHS RIHO-Tdl & d¢ gu
WP IAYGERER |
=ifted & 91 U faded 9 Tad HYHl & Ha ®f aXidl 87

1. Pad A TUIC
2. HAAR TUTC
3. Had ATUTE
4. HaA CTUID

Options :

8024375285. 1
8024375286. 2
8024375287. 3
8024375288. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Growth patterns of two species (grown alone or together) are shown in Figures A
and B.

A B 100
100 ___ Species 1
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50
0
0
= 100 s 100
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= 4 = ]
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. F"‘f a i
100 100
Time ld_ag:sl Time (dgys)

Match the growth patterns with the correct type of interaction represented by

them

1. A-mutualism, B-commensalism

2. A-competition, B-parasitism

3. A-commensalism, B-mutualism

4. A-competition, B-resource partitioning

Options :
8024375289. 1



8024375290. 2
8024375291. 3
8024375292. 4

Question Number : 133 Question Id : 8024371323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



&l USiadt @1 9f ey (3fdha a1 91y # f3afad gu) i A aur s © fa@m
H

A B 100
100 Species 1

- = Species ?

&R
=
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an
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100

Tirme Idars] Time EQFJ’

39D gRT WKd 3fs WEU & 1Y i YhR & URWRS a1 &1 Hd sH5U

1. A-TgIU®IRG], B-GeHiferar

2. A-UTGOIRTT, B-ULSi g

3. A-TeHIfSd, B-Teadrial

4. A-ufcaifia, g-daneE fayureE

Options :

8024375289. 1
8024375290. 2
8024375291. 3



8024375292. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A group of researchers are testing two new agents, M1 and M2 for their efficacy
in selecting transgenic plants. When they performed tissue culture experiments
using three explants, A, B, and C without Agrobacterium transformation, and
selected the regenerated plants on M1 and M2, the following regene-ration

frequencies were obtained.

Regeneration frequencies (%) in presence
of different concentration of agents
Explant M1 conc. (mg/L) M2 conc. (mg/L)

type

20 60 100 10 15 | 20

A 44% | 21% Nil 8% Nil | Nil

B 93% | 30% | 10% Nil Nil | Nil

C 1% | 42% | 18% | 153% | 9% | 4%

Based on the above data, which one of the following conclusions is INCORRECT?

1. M2 is a stronger selection agent than M1 for explant types A and B.

2. A concentration of 100 mg/L of M1 and 15 mg/L of M2 can be used for
selection of transformed cells using explant type A.

3. Among the three explants, type C is least suitable at the tested concentrations
of M1 and M2

4. Use of M1 with explant type B is the most ideal combination for selection of

transformants.

Options :
8024375293. 1
8024375294. 2



8024375295. 3
8024375296. 4

Question Number : 134 Question Id : 8024371324 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



H-dYD! B U Gal &l 14 Tardf M1 TYT M2 B GRSIH! Urel & g-1d § 31 &
@ GHa & 3§ © | 9 d diF Ddiddl (explants) A, B, T4 C &I IYGNT f&AT
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gerdl o fafi= Trsal @i Iuifd § gHaaneH
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A 44% | 21% | YU | 8% | YA | I
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c 71% | 42% | 18% | 15% | 9% | 4%

SWRIdd HiFsl & MYR T, F=ied o 91 Ud ey Tad & 2

1. Bald® UBHR A TUT B & AU M1 BT gaT H M2 U THIaRel  =af-iar el 31
2. Hdidd YHR A BT JUGNT &d 8T M1 B 100 mg/L Grsal a4l M2 BT 15 mg/L

Olsdl ©UIIRd SIRI®131 & g9 o ot fdod &1 Tdhai g |
3. TF Ddia®! & &, M1 TYT M2 & TRIEH Trsdisl W C U6R Ta-H I ©

|
4. FURGl & 9919 & U M1 &1 Bdid® UPR B & 91Y IR 989 GE|
YaeH g |

Options :
8024375293. 1



8024375294. 2
8024375295. 3
8024375296. 4

Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

RNA silencing is an important strategy to control viral infection in plants. The
following statements were made regarding RNA silencing.

A. It is driven by small interfering RNA (siRNA) derived from double-stranded
form of viral RNA.

B. siRNA requires RISC for it function.

C. Many plant viruses encode proteins that act as suppressors of RNA silencing.

D. Viral P19 protein activates RNA induced silencing complex.

Which one of the following combination of statements is correct?

1.A, Band C
2B CandD
3A CandD
4 A BandD

Options :

8024375297. 1
8024375298. 2
8024375299. 3
8024375300. 4

Question Number : 135 Question Id : 8024371325 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Gref  fqumueid dshau & -0 @ o1 RNA FRIASH0 Ue Heayul giad @ |
RNA FRIg®0r & g # 9 Sy s T |

A. T8 fquI] RNA & G-Tou® a1 O oqdiad /g6 exdald & ard RNA
(siRNA) I TTfcd BidT © |

B. siRNA @I 304 &1 & AU RISC D1 SHTd=GHdl gl © |

C. 3+ UIGY [auIu[e UidHHl &1 ded didl & ol i RNA FRfd®u (AR1s & S
B DA 8 |

D. fauIU] P19 UIdH RNA TR Rl affiy & afbg ol 8 |

@Yl @I Hifhd D 91 U Hd el o7

1A BdYUIC
2.B, CdUID
3.A,CdYID
4 A BdYID

Options :

8024375297. 1
8024375298. 2
8024375299. 3
8024375300. 4

Question Number : 136 Question Id : 8024371326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



One curie (Ci) is defined as the quantity of radioactive substance having a decay
rate of 2.22 X 10'? disintegrations per minute (dpm). How much of counts per
minute (cpm) will be recorded for 100 uCi of *°P when measured in a scintillation
counter working at 50% efficiency?

1.1.11 X 108
2,111 X 108
3.222X10°
4,222 %108

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4

Question Number : 136 Question Id : 8024371326 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 7 (Ci) DI Aearel uerd forgeT & &3 2.22 x 102 fage- ufd e (dpm) &),
& o1 URYIAG fad1 SITd1 81 100 pCi 32 & faod TUMETE Ui B (cpm) SiiiciRad
fohU ST Tfe SUHT AU 50% DG UR Y B 9l Teb TEHRUT U | fosdl
Sz

1.1.11 X 108
2.1.11 X 100
3.222 X108
4,222 %100

Options :

8024375301. 1
8024375302. 2
8024375303. 3
8024375304. 4



Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are a few statements related to plant breeding and genetics:

A. Non-random mating between individuals closely related to each other would
tend to promote a decrease in homozygosity at all loci.

B. Quantitative traits are typically influenced by environmental  conditions to a
greater extent than qualitative traits.

C. The "over dominance” theory for explanation of heterosis assumes that in a
heterozygote, only one of the alleles plays a functional role.

D. During domestication selected genes/traits show a decrease in diversity.

Which one of the following options represents a combination of all INCORRECT

statements?

1. A and D only
2B CandD

3. A and Conly
4. B and D only

Options :

8024375305. 1
8024375306. 2
8024375307. 3
8024375308. 4

Question Number : 137 Question Id : 8024371327 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A. U gk O isedl I d6fid Uahs! & dig eiefesd wH g4 fwiel )
GHYAAl & &RVl I HH ®H- H Geldd aid o

B. URUmHTHS fafRmedt qunds fafRmedrel @ go1 § UrEUdadl draaruiig
Uiyl O e uHIidd sid g

C. Teh¥ Il DI oORedl & fe1Y s gHIaidar e 98 uRaicid ®dl ¢ & U
fawagE & dhad Ua B FEiddh ] BUiHD HHSI Sal Hdl o

D. ‘:ﬁ@ﬂ] (domestication) %aﬂqwﬁﬂﬁm ﬁﬁﬁﬁaﬁﬁ@fﬁﬁ%l

fFifed B9 91 U fadcd 94T e Y=l & Ha &I =il 87

1. ®ad A TUT D
2. B,CAYUID

3. HAAATUIC
4. HAA B AU D

Options :

8024375305. 1
8024375306. 2
8024375307. 3
8024375308. 4

Question Number : 138 Question Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are a few terms in column A and column B.

Column A Column B
A. |Cisgenics (i) Synteny studies
B. [Zinc-finger proteins (ii) Linkage disequilibrium
C. |Comparative genomics  (iii) Site-specific recombination
D. [|Association mapping (iv) Use of endogenous plant genes
and regulatory elements

Which one of the following options represents all correct matches between terms
of Column A and Column B?

1. A-iv; B-iii; C-i; D- i
2 A-iii: B-1: C- iv; D-ii
3. A-ii; B-iii; C- iv; D-1i
4, A-i; B- iv; C-ii; D-iii
Options :

8024375309. 1
8024375310. 2

8024375311. 3
8024375312. 4

Question Number : 138 Question Id : 8024371328 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



. Htd BlaH A 3R BiaH B H $& se/URHWI UL W E

HITH A DIcTH B
A |[e (i) =1 3reT
p. |- R uidH (i) eo-dl HOmaaw]

C. [doFTHS el iy [Rue-fafdne gagieE

D. [UBdyd = (iv)  |3f<eTd OIey SiFl aur Famd
3(gqal &1 3udrT

fFifpa d 0 &1 91 ts fadcd HIaq A TUT BIaH B & o & Lsal /ARG &1
Tl I Al URgd Bl 87

1. A-iv; B-iii; C- i D- i
2. A-iii: B-i: C-iv; D- i
3. A-ii; B-iii; C- iv; D-1i
4, A-i; B- iv; C-ii; D-iii
Options :

8024375309. 1
8024375310. 2

8024375311. 3
8024375312. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Following are the typical dot plots of cytometric data obtained from peripheral
white blood cells:

PLOT1 PLOT 2
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R1 in plot 1 shows the selection window of cells which were further
analysed based on immunostaining (plot 2). Analyze the given data and choose

the correct option representing the type of cell population in plot 1 selected and
segregated in various quadrants of plot 2.

1. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD§"

(B) CD4- CD8* (C) CD4*CD& (D) CD4* CD8*
2. Plot 1= neutrophils; Plot 2 — (A) CD4™ CD&"

(B) CD4  CD&* (C) CD4* CD& (D) CD§ CD4"
3. Plot 1= lymphocytes; Plot 2 — (A) CD8™ CD4

(B) CD4* CD& (C) CD4™ CD&* (D) CD& CD4*
4. Plot 1= lymphocytes; Plot 2 — (A) CD4™ CD8~

(B) CD4 CD8* (C) CD4* CDS (D) CD8* CD4"



Options :

8024375313. 1
8024375314. 2
8024375315. 3
8024375316. 4

Question Number : 139 Question Id : 8024371329 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T g 29q Y SIS 9 UK Wrgeidicd Abal &l URelud fdg Hed

fearman &:
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HTE 1 H R1 37 SIS & 994 Ta1E GRdT & ford! [ 9 Hiawal AiReH
TR faRIy0r T 741 (311cRg 2) | T 71T 3idbs] 1 fa=eiyor & T 3ieid 1 |
HIH G & UbR 9y 3cid 2 & fafi=1 9qufal o g4 U 9uT gyahd! & G-
a1l el faded o1 g1d B

1. Plot 1— TUIBIBIRSE Plot 2 — (A) CD4~ CD8-

(B) CD4~- CD8* (C)CD4*CD8~ (D) CD4* CcD8*
2. Plot 1 - ~Zifhed ; Plot2 = (A) D4+ CDH8*



g m

(B) CD4~-CD8* (C)€D4*CD8~ (D) CD8~ CD4~
3.. Plot1— GUIBIPIRIDT Plot 2 » (A) CD8* CD4-

(B CcD4T*CD8~ (O cCcp4—CcD8* (D)CD8 CD4*
4. Plot 1 - THIBIPIRIGT: Plot 2 — (A) CD4- CD8*

(B) CD4- CcD8* (C)CD4* CD8~ (D) CD8*CD4~

Options :

8024375313. 1
8024375314. 2
8024375315. 3
8024375316. 4

Question Number : 140 Question Id : 8024371330 Question Type : MCQ Option Shuffling
Correct Marks : 4 Wrong Marks : 1

The data from an S1 nuclease mapping experiment for a transcript mfg7 using a

5'-end labelled probe are shown below.

Marker Probe Liver Kidney

750 —

250 —

: No Is Question Mandatory : No



150 — —

100 Pr—

Following interpretations were made:
A. The liver RNA is 500 bp in length

B. The start site of the liver mfg1 transcript is 500 bp downstream of the 5’ end of
probe.

C. The kidney makes two mfg1 transcripts, and the 3" end of one of these is
shorter than the other.

Which one of the following options represents the correct combination of the
interpretations?

1.A,Band C

2. A and C only
3. B and C only
4. B only

Options :

8024375317. 1
8024375318. 2
8024375319. 3
8024375320. 4

Question Number : 140 Question Id : 8024371330 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



U@ 5-8R fafed YUl (probe) &1 Uh Widld mfg? & U SUTRT b S1
feTust AFTE TG 9 WK fids &1 -id o= a1 8

Marker Probe Liver Kidney
750 | =— -
S00 | — — ]
250 =———
150 | o— —
10| =
50 —

A. TP (liver) RNA Tals H 500 bp &1

B. Tdd mfg1 UiAfeil BT HRY T Yulaib & 5 @R & 500 bp HIHAE o

C. gab (kidney) Gl mfg1 U 41 €, 741 579 U U &l 3' BR g Y Bl ¢
fFifed H 8 ®H 9 U fadey [aad-reli & e Hel &l aidl &7

1A, B, dUIC
2. &hdd ATYUIC
3. HaA B AU C
4. &dd B

Options :

8024375317. 1
8024375318. 2
8024375319. 3



8024375320. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of a few restriction sites in the multiple
cloning site of a plasmid:

| | l | L]
I I | I |
Hindlli Xhol Smal Psti

The recognition sequences of the above enzymes and their digestion patterns
are shown below:

Hindlll : ATJ'-\GCTT Smal : CCC'GGG
TTCGAlA GGG ‘C‘-'I

Xhol : C‘TCGAG Pstl: C'TGCAG
GAGCT, lC GACGT lf.

Which one of the following combinations of enzymes from the vector can be used
for cloning a DNA fragment obtained as a Sal | (G¥TCGAC) - Hind Il (GTYYRAC)

fragment.

1. Sma | - Hind Il
2. Xho| - Pstl

3. Xho!l-Smal
4. Hind Il - Pst |

Options :



8024375321. 1
8024375322. 2
8024375323. 3
8024375324. 4

Question Number : 141 Question Id : 8024371331 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s WIeHS (Yeod) & dga da-- Wd & o Hiaa=H ®dl &1 -id A/RRad i
™l 36":

—l l | L
U | | I |

Hindlll Xhal Smal Pstl

SWRIad USTEH! & g SHH! 9yl 3 Ura- UiddH &I i SR T/ e -

Hindill : A'AGCTT Smal : CCC'GGG
TTCG Alﬁ. GGG ‘CEE

Xhol : C'TCGAG Pstl: C'TGCAG
GAGLCT, l{: GACGT lC

TS Sal | (GYTCGAC) - Hind Il (GTYWRAC) WS oI UTd DNA WS &l &l & &
foIu Harg® d Ueedl &1 @i 91 9 Us fiaH IugiT § a/ll < 9l 87

1. Sma | - Hind IlI
2. Xho | - Pstl

3. Xhol - Smal
4, Hind Ill - Pst |

Options :
8024375321. 1



8024375322. 2
8024375323. 3
8024375324. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below is a schematic representation of the T-DNA region of a transgene
construct and the Southern blot analysis (using Pst | digested genomic DNA) of
five independent transgenic lines (labelled as A to E) developed using the
construct. The probe used for hybridization is shown as a black box below the
construct (UT: Untransformed Plant)

Pstl  Pstl
F [ | | || | F
LB Promoter  Gene pA RB
(—




Based on the above data, which one of the following options gives the correct list

of single insertion transgenic events?

1. B and C only
2. A, B and E only
3. A and B only
4. E only

Options :

8024375325. 1
8024375326. 2
8024375327. 3
8024375328. 4

Question Number : 142 Question Id : 8024371332 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



1 U® RS FE0 @1 7-0NA &F 7Y 39 8 @ 3uan oxe [deid e e
Ui Wad ORI a9 (A 9§ £ 9 A1Hifdd) &1 T sale [a=vagul (st | Tifd Tei]
DNA &1 IUON ) BT HREHY Ufa=y fear T 3| eEfEeseaH & fau ugm d
AT 7T Yudterd ! Al & e Ue S dite ST I /T § (UT: SREaRd

aie)

Pstl Pstl

F [ 1 I 1 F

LB Promoter Gene pA RB

SRiad Hdmal & YR R, FEifhd 4 91 U@ [dHcd Tha Ha<H RIS
ger3ff B e el UaH Bl o7

1. Had B AU C
2. Had A BTUTE
3. ®ad A JUTB
4. HAdE

Options :

8024375325. 1
8024375326. 2
8024375327. 3
8024375328. 4




Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are the restriction profiles obtained upon digestion of a 4.8 kb
plasmid with four different enzymes (E4, Ez, Ez and Ey).

Ei : 48kb E;+E; = 500bp + 43kb
E2 :  48kb Ex+E3 = 400bp + 44kb
Bz 48kb E3+Es = 2kb + 28kb
E, :  48kb FEj+E4 = 19kb + 29kb

Based on the above information, which one of the following statements is correct?

1. E1 and E4 have two recognition sites each in the plasmid.

2. E> recognition sequence is located between E; and E3,

3. The sequence of recognition sites after digestion of the plasmid with Ez is: E4-
2B

4. The sequence of recognition sites after digestion of the plasmid with E; is: E+-
Ez.Es

Options :

8024375329. 1
8024375330. 2
8024375331. 3
8024375332. 4

Question Number : 143 Question Id : 8024371333 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



U® 4.8 kb WIGHS (Ugcd) &1 IR [3f= U=l (£, B, E; 9UT E4) ° UH & SWI

U Uida-H @bl -iid UM b T/ g1

Er : 48kb  E;+E2 = 500bp + 43kb
E, : 48kb  Ex+E3 = 400bp + 44kb
E; :  48kb  E3+Ex = 2kb + 28kb
Es : 48kb  Eq+Es = 19kb + 29kb

SWRIdd a1 & YR TR, FHifdd @ 91 U &Y Hal 87

1. oIS | Eq dUTEy Udd & &l UgdH =d (recognition sites) gl
2. B, UgdH 3JshH E; OYT E; & ol H iRy 51

3. WToHS @ £, ¥ U & U<aid UgdH Tl & B E4-E».F1 &
4. TISHS &1 E, § UTEH & UZdld UgdH ®dl &1 $H: E1-E3.E,4 B

Options :

8024375329. 1
8024375330. 2
8024375331. 3
8024375332. 4

Question Number : 144 Question Id : 8024371334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The 'TH NMR spectrum of 13CH;Cl in CDCl3 shows two lines (doublet, 1:1 intensity)
spaced 140 Hz apart. The carbon ('*C) NMR spectrum of the same molecule
shows four lines (quartet, intensity ratio 1:3:3:1). Both 'H and '*C have nuclear
spin quantum numbers [ = 1/2.

Based on the above information which one of the following options is
correct?

1. The multiplicity pattern observed follows the 2n/+1 rule.

2. The 'H-"3C coupling constant is different in the 'TH  (Proton)  and '3C
(Carbon) spectra.

3. The multiplicity patterns are a consequence of the difference in
gyromagnetic ratios of the 'H and 1C nuclear spins.

4. The multiplicity patterns are dependent on the Larmor precessional
frequencies.

Options :

8024375333. 1
8024375334. 2
8024375335. 3
8024375336. 4

Question Number : 144 Question Id : 8024371334 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



13cH;C1 BT CDCl; B TH NMR U5 140 Hz DI G311 IR faid ol 1@E (9@, 1:1
diaa xfar g1 9 0] &1 &la- (13C) NMR FUHH IR Y@1Y GR1idl & (5D, diad]
SFFUTC 1:3:3:1). H T 3¢ ST T AT wapor $emg /= 1/, %1 SRt
YoHl & HYR W [FHTEGT BIF 91 U fddbed Yol 82

1. §1 741 9g7d] W& 2n/+1 09 &1 ga Sdl g |

2. H-13¢ U RIS 'H [@ieH) 9T 3¢ (@req) Wal | 74 2l

3. 9g0idl [WEU TH YT 3¢ & YD Wbl & YUidadId UMl H§ 3R 31 U
ORUMH B

4, 9gqdl EY TR (Larmor) JIEIRUN HGREGT TR Saditad oidl gl

Options :

8024375333. 1
8024375334. 2
8024375335. 3
8024375336. 4

Question Number : 145 Question Id : 8024371335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are a few statistical terms in Column A and their related features

and terms in Column B.

Column A Column B
A. | Standard (i) Measure of relative variability
deviation of given populations.
B. | Coefficient (i) Used to make inferences
of Variation about population means.
C. | Chi-square (i) | Positive square root of
test population variance.
D. | t-Test (iv) | Test hypothesis related to
categorical data from
inheritance studies.

Which one of the options given below correctly matches all items of Columns A
and B?

1A=, B=ili, C=1i, D =i
2 A-ii,B-iv,C-i D-iii
3.A-ii,B-i,C-iv,D-ii
4 A-i0i,B-i, C-iv, D -iii

Options :

8024375337. 1
8024375338. 2
8024375339. 3
8024375340. 4

Question Number : 145 Question Id : 8024371335 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



I ®iaH A § 99 UiRSISg Weaaal ayl 34 Jafdd f9Rvane ud Teqrafedi
®IH B H UM [T T g

BT A HicH B

ATHAS  |i. 68 T SHUEEe @ qoTd® URad-Ried ol
CERE] TiHTT S |

p.f@w  |ii. SdEn 99 aH & e § (el HdTeH & g UgnT
ulich GG

C. @lg-ail

iii. SEET gRadeiaal &1 YIS grHd |
TI&u s

D.t- iv. TSR AT U U YT 7T 3ids! & HaURuI &
Rty UI&01 § Heifdd |

Fifbd H T @14 91 U [ddhed dicaH A U1 B & [dud] & Glddl ¥ FAId &l
87

T.A-iv,B-iii,C-ii,D-i
2A-ii,B-iv,C-iD-iii
3.A-i0i,B-i,C-iv,D-ii
4 A-i0i,B-i,C-iv,D-iii

Options :

8024375337. 1
8024375338. 2
8024375339. 3
8024375340. 4
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